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Question Number : 1 Question Id : 54062620537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series.

67, 68, ,81,97,122
Options :

1.¥ 72

2. % 69

3. % 78

4. % 68



Question Number : 1 Question Id : 54062620537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad dven e d qud g 1d H1 |

67, 68, ,81,97,122
Options :

1.¥ 72

2. % 69

3. % 78

4. % 68

Question Number : 2 Question Id : 54062620538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Turbulent
2. Tornado
3. Tackle

4. Traffic

5. Trapped

Options :

1. % 14325
2. % 32145
3. ¥ 32451
4. % 12345

Question Number : 2 Question Id : 54062620538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T v P ST HH A HIRUT P ST HAH I UsSHIT A Bl B

1. Turbulent




2. Tornado
3. Tackle
4. Traffic
5. Trapped

Options :

1. #* 14325
2. % 32145
3. % 32451
4. % 12345

Question Number : 3 Question Id : 54062620539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. #* 343
2. ¥ 89

3. % 216
4. % 1331

Question Number : 3 Question Id : 54062620539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawed & 9 & Te Ay e S 90 § | 8TalD, Uh fAwed o1 diF &1 dve -Ta] ¢ | 39 [aded &1 78 &3 Sl 3 4 3T g |
Options :

1. % 343

2.¥ 89

3. % 216

4. % 1331

Question Number : 4 Question Id : 54062620540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Sorrow
2. # QGrief

3. % Misery
4. ¥ Euphoria

Question Number : 4 Question Id : 54062620540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e fywedt & § It fRfEd 38F T g B 1 graiifes, T fdshen o ofiF o1 avg T8 8 1 S fadhey &1 9u 3 o 3 3T g
Options :

1. ® ¢4

2. % b

3. % PY

4.« IAMNIHIG

Question Number : 5 Question Id : 54062620541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Fat : Slim :: Docile : ?
Options :

1. # Lovely

2. % Complaint

3. # Tractable

4. ¥ Unwilling

Question Number : 5 Question Id : 54062620541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 B S R Ue J I UHR ¥ afd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7

el : Iddl :: 9%T (SNI1Sd) : 2
Options :

1. ®* TR

2. % Rerd

3. # fogeita

4. ¢ 3gd

Question Number : 6 Question Id : 54062620542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Feet : Length :: Pint : ?
Options :

1. # Temperature

2. % Volume

3. % Weight

4. % Pressure

Question Number : 6 Question Id : 54062620542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § For TR J g¥R1 S Ugd Ue § Yefid g
?ﬁ?:m::ﬁ?:?

Options :
1. % dIUHE
2.9 3Id4



3. % HR
4. % qld

Question Number : 7 Question Id : 54062620543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if Father is called Sister, Sister is called Brother, Brother is called Mother, Mother is called Son, and Son is called
Daughter, then who gave birth to you?

Options :

1. # Sister

2. % Son

3. % Mother
4. % Father

Question Number : 7 Question Id : 54062620543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T M ®rs 1w H, IS U1 T 95 He1 1 §, 671 DI WIS BT T 6, HTs B1 AT BT 71 5, HId D Y B8l T8, 3R G Bl Gl
ST T 7, SHTUeh! 5 farae faam

Options :

1. % dgd

2.9 UJ7A

3. % HIdl

4. % fuar

Question Number : 8 Question Id : 54062620544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if ODISHA is coded as ABHISTIJDEOP, then what will TELANGANA be coded as?
Options :

1. ¥ ABNOABJNCNKCNVHHII

2. % ABNOABJNABMEFTMEFT



3. ¥ ABNOABGHNOABLMEFTU
4. % ABNOABHOJDBDBILKMS

Question Number : 8 Question Id : 54062620544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% Ay s W H, afe ODISHA &1 ABHISTUDEOP & %0 § HIfSd fa1 T 8, @ TELANGANA &) 68 SifSd farar S
Options :

1. * ABNOABJNCNKCNVHHII

2. % ABNOABJNABMEFTMEFT

3. ¥ ABNOABGHNOABLMEFTU

4. ¥ ABNOABHOJDBDBILKMS

Question Number : 9 Question Id : 54062620545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D, E, F are sitting in a row. E and F are in the centre and A and B are at the ends. C is sitting to the immediate left of A. Who is sitting to
the immediate right of B?

Options :
1. % A
2. % C
3.D
4. % E

Question Number : 9 Question Id : 54062620545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,C,D,E,FIG I HISEIEARFHE AT HRASMRBBRMWEIC, A B B AW H F31 81 B F 31 G H DI 961 6?
Options :

1. % A

2.% C

3.D



4. % E

Question Number : 10 Question Id : 54062620546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram goes to his office by car. Ram sits in the car parked in front of his home and takes two right turns and then a final left turn before reaching
office. His car is facing north when it reaches his office. Then in which direction was the car facing, when it was parked outside his house?

Options :
1. * East
2. * South
3. * North
4. ¥ West

Question Number : 10 Question Id : 54062620546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I HR Y U ST Sl & | I S0 TR P G Tl HR H d9dT 8 3R STy Uga- J Ugd &l ald JIS ddl g 3R O sifam s

g?%l T4 98 30 HITAT Ugadl § dl 3P HR BT W SR Pt AR A1 8 | Ol PR &1 74 g fo=m & o1, 91d 98 3P W & TR
0

Options :

1. % gd

2. % e

3. % 3

4. ¥ Uigq

Question Number : 11 Question Id : 54062620547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given followed by two courses of action numbered I and II. Assuming that all information in the statement
is true, analyse the actions together and determine whether any of them logically and definitely follow(s) from the information given in the
statement.

Statement: A survey was conducted estimating the visit of around 10 lakh people to Kolkata during Durga Puja.



Courses of Action:

I) The local police authority must be put on high alert to maintain law and order during the festival.
IT) The hospitals in the city must be put on high alert in case of any eventuality.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. % Neither I nor II follows

Question Number : 11 Question Id : 54062620547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Uy o U HyF a1 a1 €, o a8 SIaTs & <l A 1 3R 11 AT U § | I8 A U fh o & 9uft e R 9 §, HRATS & ol HH
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Options :

1. ® $HId [ IR0 HRAT §

2. % Had I 3IERU HT §

3. ¢ 1 3R 11 SHT STER R &

4. % FN 1SR AE 11 SJER0 Bl §

Question Number : 12 Question Id : 54062620548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the

statements are true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.



Statement I: All chargers are mouse.
Statement II: Some mouse are keyboard.
Statement I1I: No Keyboard is pen drive.

Conclusion I: All keyboard being mouse is a possibility.
Conclusion II: Some mouse are pen drive.

Options :

1. ¥ Only I follows

2. % Only II follows

3. % Both I and II follows
4. #* Neither I nor II follows

Question Number : 12 Question Id : 54062620548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A UY A, I By feu U B, e 918 &l freen 1 3R 11 fau 77U § | 98 A1d gU foh oy & Ml oMel 9 ©, < sl o1 U A1y
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Options :

1. ¥ Had [ IR0 Hal §

2. % I I1 TRV BT §

3. % [ 3R 1 ST SFERUI &R §

4. % FN 1SR TSI SFER0 BT §

Question Number : 13 Question Id : 54062620549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is



different from the rest.
Options :

1. # 1 centimetre

2. % 0.01 metre

3. % 0.0001 kilometre

4. % 10 millimetre

Question Number : 13 Question Id : 54062620549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & ¥ o U M3 aRich ¥ 90 8 | gTallich, T [dahed o A &1 IRE -Tal 6| 3% [Adhed HI Ia- Hx off 30 J 3T g
Options :

1. % 1 g

2. % 0.01 iR

3. ¥ 0.0001 fpaHIex

4. % 10 frefidieR

Question Number : 14 Question Id : 54062620550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 12.5, 14.5, 16.5, 18.5, 20.5, 22.5 is:
Options :

1.¥ 175

2. % 225

3. % 16.5

4, % 18.8

Question Number : 14 Question Id : 54062620550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12.5,14.5, 16.5, 18.5, 20.5, 22.5 &1 3G &
Options :



1. ¥ 175
2. % 225
3. % 16.5
4. % 18.8

Question Number : 15 Question Id : 54062620551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following represents Indian cyclists who are also an athlete but are not educated?

Options :
1. ¥ 31
2. % 11
3.% 19
4. % 28

Question Number : 15 Question Id : 54062620551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafifad & 9 S YR grefed T o1 ufdfiiia Hd @ S wyelie ¥ § afe R 78 &

Options :
1. ¥ 31
2.% 11
3.% 19
4. % 28

Question Number : 16 Question Id : 54062620552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Venn diagrams best represents the relationship among city, state, and country?
Options :

1. ¢



Question Number : 16 Question Id : 54062620552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & 9 &1 91 9 3G e, AT R S & o & JaY P T 351 Sial 82

Options :

1. ¢



Question Number : 17 Question Id : 54062620553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

2.¥



Question Number : 17 Question Id : 54062620553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e fawedl & @ & e YT % T guM B gTifes, T fAdhed 30 9 &1 a8 181 81 39 fashed &1 Tu9 &3 S 3170 T 3 g |

Options :

2. ¥



Question Number : 18 Question Id : 54062620554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures will continue the same series as established by the five question figures?

Options :



2.¥

Question Number : 18 Question Id : 54062620554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiyd o @ ®F T SR S Ui Uy Spiad! gRT RAUT JHH 47a &I SR [

Options :



2.¥

Question Number : 19 Question Id : 54062620555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the total number of parallelogram in the figure.

Options :
1. % 14
2. %17
3.4 18
4. % 20

Question Number : 19 Question Id : 54062620555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP A THR TGS B! Hol G- 1A Be |
— T

B,

Options :
1. % 14
2. %17
3.4 18
4. % 20

Question Number : 20 Question Id : 54062620556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the water image of the following figure.

Options :



<

O
] =

Question Number : 20 Question Id : 54062620556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad snefd @1 5a Bfd I R

Options :



O <
] =
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Group Minimum Duration :
Show Attended Group? :
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Group Marks :
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Section Number :
Section type :
Mandatory or Optional :
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Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
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Question Shuffling Allowed :

Question Number : 21 Question Id : 54062620557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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2
540626768
0
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Mandatory
20
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Yes
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5406261162
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Losar festival of Northeast India celebrates:
Options :

1. # Enlightenment of the Buddha

2. ¥ Tibetan Lunar New Year

3. # Good harvest

4. # Completion of the sowing season

Question Number : 21 Question Id : 54062620557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JaitR HR BT AR 54 AT 8:
Options :

1. % gg Iy

2. ¢ foresrdll di a9y

3. % 3B Hhyd

4. % GAT8 o HIGH BT JATGA

Question Number : 22 Question Id : 54062620558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following genres of folk music can be linked to Madhya Pradesh?
Options :

1. % Bhavgeet

2. % Maand

3. % Dhankul

4, % Lavani

Question Number : 22 Question Id : 54062620558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e Tid o1 Fufafad & I feg fayr &) ven uew I SeT o IohdT 82
Options :

1. % Yl

2. % Oig

3. ¢ Yipd

4. % rauft

Question Number : 23 Question Id : 54062620559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Goods and Services Tax (GST) in India can be classified as a/an:
Options :

1. #* corporate tax

2. % consumption tax

3. % wealth tax

4. % expenditure tax

Question Number : 23 Question Id : 54062620559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T 9% Td Ja1 R &1 9 =0 H arfiepd faran o 9 &
Options :

1. ¥ HRURS

2.9 GUd DX

3. % Y M

4. % Fg-H gy

Question Number : 24 Question Id : 54062620560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India is not a part of which of the following economic groups?



Options :
1. % G-15
2. % G-12
3. % G-20
4. % G-24

Question Number : 24 Question Id : 54062620560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R4 Fafafed & 9 fog snfife aug &1 fewr 18 82
Options :

1. # G-15

2. % G-12

3. % G-20

4. % G-24

Question Number : 25 Question Id : 54062620561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Apple seeds, when chewed and digested, releases which of the following toxins into the blood stream?
Options :

1. % Bisphenol-A

2. % Mercury

3. ® Lectins

4. ¥ Cyanide

Question Number : 25 Question Id : 54062620561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A9 & Sl Bl 9 II-T 3R YT SI1dT 5, af Fafafad 7 3 & 97 fay Yad yarg & Wifad gid1 g2
Options :

1. # fqgfea A




2. % ORI (HFR)
3. % dfgeq

4. ¥ WIIIES

Question Number : 26 Question Id : 54062620562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calcium hypochlorite is the chemical active ingredient in which of the following everyday cleaning agents?
Options :

1. # Phenyl

2. ¥ Bleaching powder

3. # Lysol (floor cleaner and disinfectant)

4. ® Windex (glass and hard surface cleaner)

Question Number : 26 Question Id : 54062620562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea o § feg e IwE toie & Hiamy gRuidarie I9Rfe afehg Jucs 82
Options :

1. % fiorrgd

2. ¢ RS (i) urder

3. % TR (B TR 3R PICUHERS)

4. % IS (@TE 3R HER Idg T TR)

Question Number : 27 Question Id : 54062620563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tamil Nadu, Andhra Pradesh and Kerala are better suited for growing cashew nuts because of the presence of soil.
Options :

1. #® Yellow

2. ¥ Laterite



3. # Alluvial
4. % Black

Question Number : 27 Question Id : 54062620563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TG, 38T TSR 3R PR a1 B JURYTY B HRUN BT I & [T SeR 3% d o
Options :

1. % el

2. ¥ RIS

3. % Tl

4. % DAl

Question Number : 28 Question Id : 54062620564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Red loamy soil can be found predominantly in which of the following regions?
Options :

1. ¥ Piedmont zone of the Western Ghats

2. % Eastern coastal plains

3. # Deccan plateau

4. % Foothills of the Himalayas

Question Number : 28 Question Id : 54062620564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dTd e Jal T wu 3 fafated & 9 foy 85 1 ur ot 82

Options :

1. ¢ gy ure &1 dieqie &
2. % gdf actg Aert &=

3. ® qdhq HIUSR




4. % [gHIY &t dagel

Question Number : 29 Question Id : 54062620565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Tomara dynasty was a sovereign monarchy during the 10th-12th centuries. They ruled over which of the following regions?
Options :

1. ¥ West India (near the Gulf of Kutch)

2. ® Eastern India (Southern Bengal)

3. % North India (in and around Delhi)

4. ® South India (areas of Tamil Nadu)

Question Number : 29 Question Id : 54062620565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR SIS 10dY- 127 TeTed! & SR JUY AoTaial 4Tl I814 Fafead & J feg & R 2me feam
Options :

1. % O YR (8 &I Tle! & UN)

2. # gdf yrd (gféroft sma)

3. ¢ IR HRA (Rl 7 3R 39& 3maum)

4. % IR0 YR (el ITg o &)

Question Number : 30 Question Id : 54062620566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sher Shah Suri lost his life during the conquest of
Options :

1. ¥ Marwar

2. % Kalinjar

3. % Multan and Sind

4. ¥ Malwa



Question Number : 30 Question Id : 54062620566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TME [ A @1 fasTa & SR (YT i W fear|
Options :

1. ®* HRAIS

2. ¥ BIfcioR

3. % QoA 3R Ry

4. % Hlcdl

Question Number : 31 Question Id : 54062620567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following works can be linked to Al-Biruni?
Options :

1. % Fatwah-I-Jahandari

2. % Tarikh-I-Mubarak Shahi

3. # Tarikh-I-Alai

4. ¥ Kitab-al-Hind

Question Number : 31 Question Id : 54062620567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ &1 W Hia 31a 931 F SIST 57 Tl &2
Options :

1. % Hadl-T-Sglary

2. % ARIG-U-HaIR® e

3. % GRIG-T-3fdls

4. ¢ fbae-3d-fee



Question Number : 32 Question Id : 54062620568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mathematicians is known for his contributions to algebraic geometry?
Options :

1. #* Srinivas Ramanujan

2. % S.S. Abhyankar

3. % CR.Rao

4. % P.C. Mahalanobis

Question Number : 32 Question Id : 54062620568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRad & ¥ D1 91 TTITasT SToRTION ST & 30+ ARG % fTg ST S 572
Options :

1. % Siary IHre

2. ¢ THTY. 3THIARR

3. % L3R, @

4. % U1 . AeTEAIEd

Question Number : 33 Question Id : 54062620569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists won the Turing Award for pioneering work on large scale artificial intelligence systems?
Options :

1. ¥ Dabbala Rajagopal Reddy

2. % Thanu Padmanabhan

3. ¥ M.S Swaminathan

4. # Ashoke Sen

Question Number : 33 Question Id : 54062620569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad § 9 forg afae 3 98 TR R $HH gfga Yo R 3pof &1 & fore g REeR Sfidn
Options :

1. ¢ SSTa ISIUTe gl

2. % dq UsIHIHA

3. ® TH.TY. WHARYA

4. % 3D T

Question Number : 34 Question Id : 54062620570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On 14th July 2021, ISRO (Indian Space Research Organisation) successfully conducted hot test of the liquid propellant Vikas Engine for which
of the following Missions?

Options :

1. # Mars Orbiter Mission
2. ¥ Gaganyaan Mission
3. % AstroSat Mission

4. # Cartosat-3 Mission

Question Number : 34 Question Id : 54062620570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

é%@?ﬂ'%g?l DI, TR (HRTT fdRer s Ae) = FofaRed o 9 foy e & forg fafés uitde foem o4 &1 Iwadyde
&1 ?

Options :

1. % Td HieH fi=E
2. ¢ A fHRE

3. % TR fiRE

4. % Pprerde-3 fi=E

Question Number : 35 Question Id : 54062620571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
India's first "Grain ATM" has been set up in as a pilot project.

Options :

1. ¥ Gurugram

2. % Chandigarh
3. # Noida

4. ¥ New Delhi

Question Number : 35 Question Id : 54062620571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR &1 Ugall "I ATM", RIS GRAeHT & &9 § # Ri1ftd fear mn g
Options :

1. ¢ T[UH

2. % 43NTg

3. % qIgeT

4. % 73 faeell

Question Number : 36 Question Id : 54062620572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the 15th of July 2021, the "COVID Teeka Sang Surakshit Van, Dhan and Uddyam" campaign was launched by which of the following
ministries?

Options :

1. * Ministry of Women and Child Development

2. # Ministry of Science and Technology

3. ¥ Ministry of Tribal Affairs

4. % Ministry of Health and Family Welfare

Question Number : 36 Question Id : 54062620572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



15 STs 2021 BT, fFafafad & 3 fod g3 gR1 "difds St I IRREE a4, 4 3R ITa" I = a1 a1 U1
Options :

1. ® O Ud 91 f[dbry HA1a

2. % fag ud U= daer

3. ¥ SHSTE ATHA! BT HATd

4. % WY T4 YRAR S0 HdTerd

Question Number : 37 Question Id : 54062620573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 19th Amendment to the Constitution in 1966:

Options :

1. # incorporated Pondicherry into the Indian Union.

2. # added the 9th Schedule to the Constitution.

3. # readjusted the scale of representation in the Lok Sabha.

4. ¥ abolished the system of Election Tribunals and gave High Courts power to hear election petitions.

Question Number : 37 Question Id : 54062620573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1966 § Tfaym™ o 1997 =N

Options :

1. % Uifga:t &1 YR o o i faan

2. % odl 3T ! HiAYH H SIS |

3. % AHaHT H Uit & UM & fhr & Jamiford foearl

4.+ AT TGN B1 YU &1 THIE B a1 3R o AraTerd! & gH1d ATradbr1afl &1 o &1 a1 ¢ |

Question Number : 38 Question Id : 54062620574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The most recent Amendment Act of 2020,(as of July,2021) was the amendment to the Constitution.



Options :

1. % 101st
2. % 106th
3. % 102nd
4. ¥ 104th

Question Number : 38 Question Id : 54062620574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 DT I gTierdT TR AT, (JaR, 2021 TF) Afau™= & BRIEERI) |
Options :

1. ® 10141

2. % 106d

3. % 102dT

4.+ 1044l

Question Number : 39 Question Id : 54062620575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3feitd uret Rig Fafead 7 4 ford wa 4 93 &2
Options :

1. ¢ Bl

2. % fohape

3. % YR

4. % DHagl

Question Number : 39 Question Id : 54062620575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ajit Pal Singh is associated with which of the following sports?
Options :



1. ¥ Hockey
2. # Cricket
3. % Weightlifting
4. # Kabaddi

Question Number : 40 Question Id : 54062620576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India has won a total of 28 medals at the Olympic games (as of 2020). The majority of these medals has been won in which of the following
sports?

Options :

1. % Athletics

2. ¥ Hockey

3. % Archery

4. ¥ Boxing

Question Number : 40 Question Id : 54062620576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 3 3NcfUed Wal (2020 %) T F 28 UG Siid & | 370 § H T Uge FHfeiad & 9 forg @a & Sftd U 82
Options :

1. % Tyaifcem

2. & Gl

3. % yfdan

4. % TahaTol

Arithmetic Ability

Group Number : 3
Group Id : 540626769
Group Maximum Duration : 0



Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Arithmetic Ability

Section Id : 540626966
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261163
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062620577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If unit place of a two digit number is tripled and digit in tenth place is doubled, the number obtained is 2 more than double of original number.
Find the number if unit place is half of tenth place.

Options :
1. % 84
2.9 42
3. % 21
4. % 63

Question Number : 41 Question Id : 54062620577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 1 BT BT & SHTS R B o AT 3R G818 VI & 3 Bl &l AT B (a1 ST, T UTed IReAT Gl IRSAT & & AT 3 2 317 gt
1 I THTS BT VI GBS RIF HT YT ¢ A T J1d B

Options :

1. ® 84

2. 42

3. % 21

4. % 63

Question Number : 42 Question Id : 54062620578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What approximate value should come in place of the question mark (?) in the following question?

323.17 +16.96 x 18.99 =?
Options :
1. = 351
2. % 324
3. % 461
4. ¥ 361

Question Number : 42 Question Id : 54062620578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAoferfad uy o usarae g (2) & QI R AT {1 914 3T a1fg e

323.17+16.96 x 18.99 =?
Options :
1. = 351
2. % 324
3. % 461
4.+ 361



Question Number : 43 Question Id : 54062620579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vandana bought 59 watches for Rs. 29,000 from one shop and 78 watches for Rs. 38,692 and 12 for Rs. 8,000. What is the average price paid per
watch?

Options :

1. % Rs. 600
2. % Rs. 508
3. % Rs. 527
4. % Rs. 549

Question Number : 43 Question Id : 54062620579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dT A T gHM ¥ 29,000 ¥UT H 59 GfSTT 3R 38,692 ¥UT H 78 BT 3R 8,000 ¥UT H 12 ufeai WIH Ufd g8t YF1aH v mar ofaa
I R ?

Options :

1. # 600 >UY

2. % 508 ¥UU

3. % 527%0U

4. % 549UU

Question Number : 44 Question Id : 54062620580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a college exam Ishani scored 80 marks out of 150 in Economics and 95 marks out of 120 in Statistics. Find the minimum marks she should
score in Accountancy out of 100 to score 70% marks in 3 subjects.

Options :
1. % 87
2. % 86
3.¥° 84



4. % 85

Question Number : 44 Question Id : 54062620580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HEIfaeTerd o1 Ute § SR A Srfemed & 150 T 80 3ich 3R Wifyast T 120 B 95 3 U fohT | A 3ich J1d o< ot 3 Tyt o
70% 3 YT B & o8 3 T¥IHH H 100 H I U B 8T |

Options :

1. % 87

2. % 86

3.¢ 84

4. % 85

Question Number : 45 Question Id : 54062620581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office, the ratio of officers and clerks is 5 : 9 and the number of peons is 33.33% of the number of clerks. If the total employees in the office
are 1870, then find the number of officers.

Options :
1. ¥ 550
2. % 330
3. % 880
4. % 660

Question Number : 45 Question Id : 54062620581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BT §, SfASGINAT 3R fafte! &1 Sgard 5 : 9 § 3R IR &1 I AUl &1 W& BT 33.33% 5| afe Sriad & $d Haanal
@B AT 1870 B, Al SHTABTRAT BT TReAT 1 P |

Options :

1. % 550

2. % 330




3. % 880
4. % 660

Question Number : 46 Question Id : 54062620582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Discount fruit seller sells fruits at 10% loss. If he uses 700 gram weight in place of 1 kg weight, then what is his profit per cent?
Options :

1. # 23.75 Percent

2. # 32.57 Percent

3. % 28.57 Percent

4. # 34.67 Percent

Question Number : 46 Question Id : 54062620582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS T S 9Tl Bd fagsdT 10% 81 IR d Sadl 8 1 IS I8 1 ke T & RIF W 700 UTH g9 o1 SGANT BT 8, df STbT a1H ufawa
T 82

Options :

1. % 23.75 gfa=rd

2. % 32 57 gfa=rd

3. ¢ 28.57 Ufa=rd

4. % 34,67 9fd2d

Question Number : 47 Question Id : 54062620583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, and C founded a company together. A and B's respective investment ratios were 3 : 5 and B and C's respective investment ratios were 10 :
13. What was the total annual profit earned by all of them if C received Rs. 17628 and his share of the yearly profit at the end of the year?

Options :
1. % Rs. 37854
2. % Rs. 39324



3. ¥ Rs. 36824
4. % Rs. 49284

Question Number : 47 Question Id : 54062620583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C 7 @R SU-t & RITTAT 3| A 3R B & Yafdd A sura 3 ¢ 5 3 3R B 3R ¢ & I&fda o surd 10 : 13 313 ¢ B
17628 FUT YT gU al 31 Geft gRT 31fofd $f aftfer A1y 3R oy o ofd | a1fties oy BT IUhT e om U

Options :

1. % 37854 3OT

2. ¥ 39324 ¥UY

3. % 36824 ¥UY

4. % 49284 30T

Question Number : 48 Question Id : 54062620584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfA:B=12,B:C=6:7,C:D=5:6andD:E=2:3then, find A:B:C:D:E.
Options :

1.9 15:30:35:42:63

2. % 15:35:35:42:63

3.% 16:30:35:42:63

4. % 15:30:37:42:63

Question Number : 48 Question Id : 54062620584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EI'%A:BZI:Z,B:C=6:7,C:D=5:6GﬁTD:E=2:3T‘ﬁ,A:B:C:D:ESﬂHﬁI
Options :

1.9 15:30:35:42:63

2. % 15:35:35:42:63



3.% 16:30:35:42:63
4, % 15:30:37:42:63

Question Number : 49 Question Id : 54062620585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, and R formed a partnership with respective sums of Rs. 16000, Rs. 20000, and Rs. 24000. After x months, R joined them, while Q left x
months before the end of the year. They decide to split the profits at the end of the year, If they split the profit in the following proportions- 48 :
35 :42. What is the value of x?

Options :
1. % 4
2.% 6
3.% 7
4. 95

Question Number : 49 Question Id : 54062620585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, 3R R 7 16000 FUT, 20000 TUT, 3R 24000 FUYT B YafArd M & 1Y WIIER §18 | x TSI & &1¢, R 3% 1Y JSdT &, Salfb Q
Iy & 3 q x HelH Ugd BIS gl g1 d I8 & 3id & T B! fquiford s &1 o od &, afe 3 ard &1 Faforied aamund- 48 : 35 : 42 1
QT a8 1 x HTHAE T 82

Options :
1. % 4
2.% 6
3.% 7
4.5

Question Number : 50 Question Id : 54062620586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio between compound interest and simple interest is 5 : 4 for 2 years. Find the difference between compound interest and simple interest
for 2 years, if one-year simple interest is Rs. 200.

Options :



1. #® Rs. 200
2. ¥ Rs. 100
3. ¥ Rs. 400
4. % Rs. 500

Question Number : 50 Question Id : 54062620586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 9 & T Ihgfs SToT 3R IR &S HT U 5 : 4 81 2 T8 P (oTT Tehgfeg SATS! SR HTYRUT STl & & T 3R J1d By, Tfe Th
qy &1 YIYRU S 200 FUT 5|

Options :

1. % 200 >49¢

2. % 100 249U

3. % 400 %07

4. % 500U

Question Number : 51 Question Id : 54062620587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Asha has given Rs. 6400 to a labour compounded quarterly for 6 months at the rate 10% per annum. Find the compound interest.
Options :

1. ¥ Rs. 324

2. % Rs. 314

3. % Rs. 344

4. % Rs. 334

Question Number : 51 Question Id : 54062620587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TRIT A TP HfHH BT 6 A o oY FHTRIS U T Ihgia a1 Taay 10% Ui a8 B1 &R I 6400 FUT T § | Tehgfeg ST 1 Y|

Options :




1. ¥ 324%UUQ
2. % 314%49U0
3. % 344°%UU0
4. % 3343407

Question Number : 52 Question Id : 54062620588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains of equal lengths take 7 seconds and 8 seconds respectively to cross a stationary pole. If these trains are running in the same direction,
then how long will they take to cross each other?

Options :

1. % 112 seconds
2. # 56 seconds
3. % 28 seconds
4. #® 224 seconds

Question Number : 52 Question Id : 54062620588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TS B 1 IS Toh FRIR W™ B IR H3 | PR 7 Jbs 3R 8 Jobs BT THT Tl & | afe; 3 Yermisar Ueb & o= & e %@
g, 0 J Uh-gWR Bl UR oA H ford=1 vy aite

Options :

1.¥ 11298

2. % 56 qha

3. % 28 b g

4. % 224 qHS

Question Number : 53 Question Id : 54062620589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ram is a boatman and he can row a boat downstream at 30 km/h and upstream at 20 km/h. What will be the speed of the boat in still water?
Options :



1. * 20
2. % 30
3. % 22
4.9 25

Question Number : 53 Question Id : 54062620589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TH IS § 3R a8 SFIVATE 30 knvh 1 7T F SR SHEUATE 20 ke/h Bt 7T A1a I el | FRR =1 H 1@ Ft 71fd o1 gt
Options :

1. # 20

2. % 30

3. % 22

4. ¥ 25

Question Number : 54 Question Id : 54062620590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe X and Y can fill a tank in 8 hours and 6 hours respectively. Pipe R can empty the tank in 12 hours. All the three pipes are opened
simultaneously, and the tank is half full. In how much time the tank will be filled?

Options :

1. * 4.2 hours
2. * 6 hours
3. % 2.4 hours

4. % 5 hours

Question Number : 54 Question Id : 54062620590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UTST X 3R Y ¢! &l HHTT: § T 3R 6 4 H W Tobd g | UIST R T & 12 B H Wiell B Jobal g | Gt fiF Uy v 91y Widd 91 3,
3R @t oeft H_Y g3 & | foba o H <t aR ST

Options :




1. % 4279¢
2. % gHc
3.¢24%¢
4. % sYC

Question Number : 55 Question Id : 54062620591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C and D can do a piece of work in 8, 16, 24 and 32 days respectively. A starts the work and after each day B, C and D join the work
respectively. Find the time to complete the task.

Options :

1. % 4(19/25) days
2. % 5(19/25) days
3. % 4(13/25) days
4. % 4(17/25) days

Question Number : 55 Question Id : 54062620591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C 3R D U&% &1 &I HH: 8, 16, 24 3R 32 f&A H R HR Tohd &1 A T & Il § 3R TA® [ & §1G R B, C 3R D FE A
M B & | B B! R B & o8 JHT 1d B |

Options :

1. ¢ 4(19/25) fea1
2. % 5(19/25) f&
3. % 4(13/25) faa
4. % 4(17/25) fe=

Question Number : 56 Question Id : 54062620592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 9m wide road runs outside around a square park, whose perimeter is 40m. Find the area of the road.
Options :



1. * 261 sq. m
2. % 116 sq. m
3. % 216sq. m
4. ¥ 684 sq. m

Question Number : 56 Question Id : 54062620592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T PR IAM & TR 9m TSI TSF ¢, et kY 40m ¥ 1 TS FT A5 1 I |
Options :

1. # 261 sq.m

2. % 116 sq. m

3. % 216sq. m

4. ¥ 684 sq. m

Question Number : 57 Question Id : 54062620593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of the circumference and diameter of a circle is 174 cm. Find its radius. (use © = 22/7)
Options :

1.4 21 cm

2. % 42 cm

3. % 28 cm

4. % 14 cm

Question Number : 57 Question Id : 54062620593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP g B URIY 3R AT BT AT 174 om | SHD! AT I DR (7 = 22/7 BT WA Hv)
Options :

1.4 21 cm

2. % 42 cm



3. % 28 cm

4. % 14 cm

Question Number : 58 Question Id : 54062620594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table represents the sale (in thousands) of cars by four companies A, B, C and D in six years.

What is the ratio of the total number of bikes sold by companies A, B and D in 2017 to the total number of bikes sold by all four companies in
2018?

Company
Year
A B C D

2013 45 63 65 67
2014 52 43 60 69
2015 61 60 66 67
2016 72 58 70 63
2017 52 53 63 75
2018 63 67 76 74

Options :

1. % 3:4

2.% 6:13

3.99: 14

4. % 18:23

Question Number : 58 Question Id : 54062620594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&) 77E dIferepT @ auf § IR SUMET A, B, C 3R D gRI BRI B! f5sp (89RT H) B a2id 2
2017 B HUHT A, B 3R D gRI o1 75 S18% & Hot 9= BT 2018 F Goft IR S GRT I 718 913 D1 e AT I SHI0Td 1 52




A B C D

2013 45 63 65 o7
2014 L2 4g 60 60
2015 b1 60 ] 67
2016 72 4] 70 63
2017 52 53 63 75
2018 63 of i 74

Options :

1.* 3:4

2. % 6:13

3.%90: 14

4. % 18:23

Question Number : 59 Question Id : 54062620595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph below shows Production and Exports of laptops(in thousands) by Dell in six years.
The total production of Laptops in 2016, 2018, and 2021 is y% of the total exports of laptops by Dell during the six years. The value of y is:



B Production ™ Export
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Production and Export of Laptops

r

Options :

1. % 52(1/3)
2. % 43(1/3)
3. % 49(2/3)
4. ¥ 53(1/3)

Question Number : 59 Question Id : 54062620595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 52(1/3)
2. % 43(1/3)
3. % 49(2/3)
4. ¥ 53(1/3)

Question Number : 60 Question Id : 54062620596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph below shows revenue and expenditure(in thousands) of Infosys for given years.
In which year was the revenue 33(1/3) % more than the average expenditure of the company during 2014 to 2019?
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Year
Options :
1. % 2017
2. % 2016
3. %2018
4. % 2015

Question Number : 60 Question Id : 54062620596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 2017
2. % 2016
3. %2018
4. % 2015
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Question Number : 61 Question Id : 54062620597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

While America and Bahamas were/ celebrating, Britain's athletes/ were left licking their wounds.
Options :

1. ¥ While America and Bahamas were

2. % celebrating, Britain's athletes

3. % were left licking their wounds.

4. ¥ No Error

Question Number : 61 Question Id : 54062620597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

While America and Bahamas were/ celebrating, Britain's athletes/ were left licking their wounds.
Options :

1. ¥ While America and Bahamas were



2. # celebrating, Britain's athletes
3. % were left licking their wounds.
4. % No Error

Question Number : 62 Question Id : 54062620598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Ascending the Mount Everest can/ be a matter of life or death/ for an inexperienced climber.
Options :

1. ¥ Ascending the Mount Everest can

2. % be a matter of life or death

3. % for an inexperienced climber.

4. % No Error

Question Number : 62 Question Id : 54062620598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Ascending the Mount Everest can/ be a matter of life or death/ for an inexperienced climber.
Options :

1. ¥ Ascending the Mount Everest can

2. % be a matter of life or death

3. % for an inexperienced climber.

4. % No Error

Question Number : 63 Question Id : 54062620599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Constantine's army arrived at the field bearing unfamiliar symbols (on neither its standards or its soldier's shields).
Options :

1. # on either its standards nor its soldiers' shields

2. % on neither its standards nor its soldier's shields

3. ¥ on either its standards or its soldiers' shields

4. # No correction required

Question Number : 63 Question Id : 54062620599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Constantine's army arrived at the field bearing unfamiliar symbols (on neither its standards or its soldier's shields).
Options :

1. ® on either its standards nor its soldiers' shields

2. ® on neither its standards nor its soldier's shields

3. ¥ on either its standards or its soldiers' shields

4. ® No correction required

Question Number : 64 Question Id : 54062620600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Competition between elites (is too easily turned into collusion under) plunderers.
Options :

1. # is too easily turned into collusion below

2. # are too easily turned into collusion over

3. ¥ is too easily turned into collusion between



4. # No correction required

Question Number : 64 Question Id : 54062620600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Competition between elites (is too easily turned into collusion under) plunderers.
Options :

1. # is too easily turned into collusion below

2. % are too easily turned into collusion over

3. % is too easily turned into collusion between

4. # No correction required

Question Number : 65 Question Id : 54062620601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Then, when I was in the mood for munchies, it took a smaller portion to my sweet tooth.
Options :

1. % amplify

2. ¥ mollify

3. % nullify

4. % jollify

Question Number : 65 Question Id : 54062620601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Then, when I was in the mood for munchies, it took a smaller portion to my sweet tooth.
Options :



1. % amplify
2. ¥ mollify
3. % nullify
4. % jollify

Question Number : 66 Question Id : 54062620602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

They may want to avoid some of the social that they might still face as homosexuals.

Options :

1. % emporium
2. % delirium
3. # imperium

4. ¥ opprobrium

Question Number : 66 Question Id : 54062620602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

They may want to avoid some of the social that they might still face as homosexuals.

Options :

1. # emporium
2. % delirium
3. # imperium

4. ¥ opprobrium

Question Number : 67 Question Id : 54062620603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts



can be rearranged to form a meaningful and grammatically correct sentence.
They would fly,

P. grouped together in

Q. of one tree in a

R. the shape of a diamond,

S. all coming out

cacophony of chirping.
Options :

1. ¥ PRSQ

2. % QPRS

3. ¥ PSRQ

4. % RPQS

Question Number : 67 Question Id : 54062620603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

They would fly,

P. grouped together in

Q. of one tree in a

R. the shape of a diamond,
S. all coming out

cacophony of chirping.
Options :



1.+ PRSQ
2. % QPRS
3. # PSRQ
4. % RPQS

Question Number : 68 Question Id : 54062620604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

spurious
Options :

1. # bogus

2. ¥ authentic
3. # upholding
4. % abandoned

Question Number : 68 Question Id : 54062620604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

spurious
Options :

1. * bogus

2. ¥ authentic
3. # upholding
4. ® abandoned

Question Number : 69 Question Id : 54062620605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.



reproach
Options :

1. ¥ disgrace

2. # approval

3. # endorsement

4. # regard

Question Number : 69 Question Id : 54062620605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

reproach
Options :

1. ¥ disgrace

2. # approval

3. % endorsement

4. % regard

Question Number : 70 Question Id : 54062620606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # praggmatic

2. % pragmmatic

3. % praagmatic

4. ¥ pragmatic

Question Number : 70 Question Id : 54062620606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # praggmatic

2. # pragmmatic

3. % praagmatic

4. ¥ pragmatic

Question Number : 71 Question Id : 54062620607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. % dirge

2. # disabuse

3. % discern

4. ¥ mendasity

Question Number : 71 Question Id : 54062620607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. # dirge

2. % disabuse

3. # discern

4. ¥ mendasity

Question Number : 72 Question Id : 54062620608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Few and far between

Options :

1. ® To earn a sufficient amount of money in order to keep yourself alive
2. ¥ Not frequent, unusual, rare

3. # Knuckle tapping on wood in order to avoid some bad luck

4. ® To share a secret that wasn’t suppose to be shared

Question Number : 72 Question Id : 54062620608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Few and far between

Options :

1. #® To earn a sufficient amount of money in order to keep yourself alive
2. ¥ Not frequent, unusual, rare

3. # Knuckle tapping on wood in order to avoid some bad luck

4. ® To share a secret that wasn’t suppose to be shared

Question Number : 73 Question Id : 54062620609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning.

A thing or person whose sudden but brief success is not repeated or repeatable.
Options :

1. #® Lock and key

2. % Long in the tooth

3. Flash in the pan

4. ® Might and main

Question Number : 73 Question Id : 54062620609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning.

A thing or person whose sudden but brief success is not repeated or repeatable.
Options :

1. # Lock and key

2. % Long in the tooth

3. ¢ Flash in the pan

4. ¥ Might and main

Question Number : 74 Question Id : 54062620610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Journeys especially by a group of people for a specific purpose
Options :

1. # rendition

2. ¥ expedition

3. # perdition

4. % yendition

Question Number : 74 Question Id : 54062620610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Journeys especially by a group of people for a specific purpose
Options :

1. # rendition

2. ¥ expedition

3. # perdition

4, % vyendition



Question Number : 75 Question Id : 54062620611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Having a very noticeable quality that attracts a lot of attention
Options :

1. # foudroyant

2. ¥ flamboyant

3. ¥ miscreant

4. # occupant

Question Number : 75 Question Id : 54062620611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Having a very noticeable quality that attracts a lot of attention
Options :

1. # foudroyant

2. ¥ flamboyant

3. # miscreant

4. # occupant

Sub-Section Number : 2
Sub-Section Id : 5406261165
Question Shuffling Allowed : Yes

Question Id : 54062620612 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

Although it seems like the proliferation of spam - junk E-mails sent unsolicited to millions of people each day is a recent problem, spam has been



around as long as the Internet has. In fact, the first documented case of spam occurred in 1978, when a computer company sent out 400 E-mails
via the ARPAnet, the precursor to the modern Internet. Now spam E-mails account for more than two-thirds of all the E-mail sent over the
Internet, and for some unlucky users, spam makes up 80 percent of the messages they receive. And despite technological innovations such as
spam filters and even new legislation designed to combat spam, the problem will not go away easily.

The reason spammers (the people who and businesses that spread spam) are difficult to stop is that spam is so cost effective. It costs a spammer
roughly one-hundredth of a cent to send spam, which means that a spammer can still make a profit even with an abysmally low response rate, as
low as one sale per 100,000 E-mails sent. This low rate gives spammers a tremendous incentive to continue sending out millions and millions of
E-mails, even if the average person never purchases anything from them. With so much at stake, spammers have gone to great lengths to avoid or
defeat spam blockers and filters.

Most spam filters rely on a fairly primitive "fingerprinting" system. In this system, a program analyses several typical spam messages and
identifies common features in them. Any arriving E-mails that match these features are deleted. But the fingerprinting defence proves quite easy
for spammers to defeat. To confuse the program, a spammer simply has to include a series of random characters or numbers. These additions to
the spam message change its "fingerprint" and thus allow the spam to escape detection. And when programmers modify the fingerprint software
to look for random strings of letters, spammers respond by including non-random content, such as sports scores or stock prices, which again
defeats the system.

Sub questions

Question Number : 76 Question Id : 54062620613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the first documented case of spam e-mail occur?
Options :

1. % 1987

2.9 1978

3. % 1897

4. % 1988

Question Number : 77 Question Id : 54062620614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the precursor to the modern day internet?
Options :

1. ¥ ARPAnet

2. % NSFNet

3. % NSF

4. * WFSnet



Question Number : 78 Question Id : 54062620615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the fingerprinting system?

Options :

1. ¥ A program that stops and deletes incoming spam e-mails.
2. ® A type of spam e-mail.

3. #® A program that analyses and defeats spam filters

4. ® A spam free e-mail website.

Question Number : 79 Question Id : 54062620616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ® The first documented case of spam e-mail was when a computer sent out 400 e-mails.

2. ¥ The reason why spam e-mails are so successful is because the average consumer eventually ends up buying the product.
3. # The cost of spam e-marketing is very cheap making it a very lucrative option for spam e-mailers.

4. ® Fingerprinting system is a fairly primitive form of spam filtering.

Question Number : 80 Question Id : 54062620617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much does it roughly cost to send one spam mail?
Options :

1. % 100,000th of a cent

2. % 1,000th of a cent

3. % 100th of cent

4. % 10,000th of a cent

Question Id : 54062620612 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (76 to 80)
Read the passage carefully and choose the best answer to each question out of the four alternatives.

Although it seems like the proliferation of spam - junk E-mails sent unsolicited to millions of people each day is a recent problem, spam has been
around as long as the Internet has. In fact, the first documented case of spam occurred in 1978, when a computer company sent out 400 E-mails
via the ARPAnet, the precursor to the modern Internet. Now spam E-mails account for more than two-thirds of all the E-mail sent over the
Internet, and for some unlucky users, spam makes up 80 percent of the messages they receive. And despite technological innovations such as
spam filters and even new legislation designed to combat spam, the problem will not go away easily.

The reason spammers (the people who and businesses that spread spam) are difficult to stop is that spam is so cost effective. It costs a spammer
roughly one-hundredth of a cent to send spam, which means that a spammer can still make a profit even with an abysmally low response rate, as
low as one sale per 100,000 E-mails sent. This low rate gives spammers a tremendous incentive to continue sending out millions and millions of
E-mails, even if the average person never purchases anything from them. With so much at stake, spammers have gone to great lengths to avoid or
defeat spam blockers and filters.

Most spam filters rely on a fairly primitive "fingerprinting" system. In this system, a program analyses several typical spam messages and
identifies common features in them. Any arriving E-mails that match these features are deleted. But the fingerprinting defence proves quite easy
for spammers to defeat. To confuse the program, a spammer simply has to include a series of random characters or numbers. These additions to
the spam message change its "fingerprint" and thus allow the spam to escape detection. And when programmers modify the fingerprint software
to look for random strings of letters, spammers respond by including non-random content, such as sports scores or stock prices, which again
defeats the system.

Sub questions

Question Number : 76 Question Id : 54062620613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the first documented case of spam e-mail occur?
Options :

1. % 1987

2.9 1978

3. % 1897

4. % 1988

Question Number : 77 Question Id : 54062620614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was the precursor to the modern day internet?
Options :



1. ¥ ARPAnet
2. % NSFNet
3. ¥ NSF

4. % WFSnet

Question Number : 78 Question Id : 54062620615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the fingerprinting system?

Options :

1. ¥ A program that stops and deletes incoming spam e-mails.
2. % A type of spam e-mail.

3. % A program that analyses and defeats spam filters

4. ® A spam free e-mail website.

Question Number : 79 Question Id : 54062620616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. #® The first documented case of spam e-mail was when a computer sent out 400 e-mails.

2. ¥ The reason why spam e-mails are so successful is because the average consumer eventually ends up buying the product.
3. % The cost of spam e-marketing is very cheap making it a very lucrative option for spam e-mailers.

4. # Fingerprinting system is a fairly primitive form of spam filtering.

Question Number : 80 Question Id : 54062620617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much does it roughly cost to send one spam mail?
Options :

1. ¥ 100,000th of a cent

2. % 1,000th of a cent

3. % 100th of cent



4. % 10,000th of a cent
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Question Number : 81 Question Id : 54062620618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy # IR fomeal 7 9 39 faweu o1 97 &3 ot fou U IfY-fawe wisg & Tg) IfY o1 faweu 81|




R+3g
Options :
1. % T
2. % I
3.¢ 5
4. & qRT<

Question Number : 81 Question Id : 54062620618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A IR ol § ¥, 39 faweu &1 Tu4 &3 o feu 7T IfY-fowde 2reg & Oat IfY &1 faweu gl

R+3%
Options :
1. % Tl
2. ® R3%
3. ¥ g
4, % qRT<%

Question Number : 82 Question Id : 54062620619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 3 IR foeddl § 9,39 fdh ey &1 987 B3 o 2T U 2o & ) Y fae &1 fasbeu 8|
B

Options :

1. # 941+ gur

2. % d} + 4oy
3. % T} + 3oy
4. TG + YT




Question Number : 82 Question Id : 54062620619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 3 IR foeddl § 9,39 fdh ey &1 987 B3 o 2T U e & ) Y fae &1 fasbeu 8|
B

Options :

1. % 9t + dor

2. % d} + 4oy
3. % Tt + 3rdur
4. A1+ S(UTT

Question Number : 83 Question Id : 54062620620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied Uy , IR fadbedl # 9,39 fddhed &1 99 B ot T ¥ 8 Ueg H1 gl [dcbed B
Options :

1. = 3T

2. % Il

3. 3

4. % Sfiy

Question Number : 83 Question Id : 54062620620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed oy ¥, IR fawcdl 8 & 39 [9sed &1 997 Y o aord A 5 2Meg o1 Ig! [adbed gl
Options :

1. % 3N

2. % Sl

3. 3ff&

4. % Sty




Question Number : 84 Question Id : 54062620621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy &, IR ol 9 39 fabcd &1 987 &3 o faexh Weg &1 98t fawcu gl
Options :

1. ¢ B

2. % Yd

3. % TS

4. % gl

Question Number : 84 Question Id : 54062620621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoliad Uy & IR fopeal & ¥ .39 ey &1 Tg &1 ot fae <N 2reg o1 It ey 81|

Options :
1. ¢ DIFd
2. % Yd
3. % TS
4. % gl

Question Number : 85 Question Id : 54062620622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9 39 facu &1 987 &3 ot feT 71 araizy & ot Ue Weg &1 Iet fddbeu gl

S P TR Y Plg I HITH]
Options :

1. * YTl

2. % MY

3. % fia




4.« 3AHITd

Question Number : 85 Question Id : 54062620622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy §, IR iereal H 9 39 fahca o1 987 & ol T W araiwy & ot Ush Weg &1 Aet fdbcu gl
SR P TER Y Plg axg HIHT

Options :
1. # Ul
2. % MY
3. % i

4. % 3Id

Question Number : 86 Question Id : 54062620623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 8, aR fomed! & T 39 fdewed &1 999 &< il faU TU Xea T &1 ol 314 &1 9a! fdwea 31|
ESIE

Options :

1. ¢ geat &fd
2. % TG GERI
3. % Q@IS

4, % Jfa 991

Question Number : 86 Question Id : 54062620623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o, IR fadwenl O 9,39 [aded &1 70 &1 S faU T8 Wsg g &1 Ta! 31 &1 gl fadwed 3l
31581




Options :

1. ¢ g &Jfd
2. % TG GERI
3. % Qg

4, % Ifd 99

Question Number : 87 Question Id : 54062620624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy #, IR fomedl 3 9,39 fdded &1 99 & ol e & Y[ U P o [dded 8l
Options :

1. % et

2. % T

3. ¢ Urdalt

4. % 4l

Question Number : 87 Question Id : 54062620624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowed! & T 39 fdewed &1 99 &< ol eg & G &4 &1 Tg! [dbed gl
Options :

1. % kil

2. % THI

3. ¢ Urddl

4. % Ul

Question Number : 88 Question Id : 54062620625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy &, IR fowedl § 39 Ugl [ddhed ol 94 o ol Rad R & ol Suged eg &1 gl f[ddbed gl




CRIEICH TG

Options :
1. % hH
2. 3Fd
3. % Xl
4. % dgd

Question Number : 88 Question Id : 54062620625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRad vy H, IR ol 3 9,39 18! [deed &1 9a & ol Rad RIM & [T SUgad XMeq &1 gl [ddhed gl |
EEIEIGIETS S

Options :
1. # ©H
2. ¢ 3fd
3. % Xl
4. % dgd

Question Number : 89 Question Id : 54062620626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy H, IR fadeul 7 T, 39 fdwed &1 994 B3 o1l feT U 910 & He &1 Jal f[ddwed 1|

e B 9 ol el SHIT 98 AT W W 7 37 Hehl |
Options :

1. % {3y arad I

2. % IR a1

3. % [y arey

4. « GYad a1



Question Number : 89 Question Id : 54062620626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafad vy 7, IR fawedl & ¥, 39 faswey &1 T &3 Nt fau 77U 9199 & He &1 gl fadwe gl

HE Bl 9 51 ol S 98 IHY TR TR 7 31 Fh|
Options :

1. % [quT /e a1

2. % IR I

3. % {9/

4. ¥ Igad a1

Question Number : 90 Question Id : 54062620627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawedl & O 39 fdeed &1 99+ &3 Wil faU 78 a1y o gii & Ue &1 sl fddhed gl |

1 I, BRI g i off T |
Options :

1. ® gHERE®

2. # fReandfe

3. « e

4. % Gopard

Question Number : 90 Question Id : 54062620627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & 39 fawey &1 999 &3 o f3U 78 a9 & gfi & U &1 Ie! fadwed gl |

T YT, BRI g TRiG Y 31ma |
Options :

1. % gHERE®




2. % fends
3.  gETaTYS
4, % Gpardf

Question Number : 91 Question Id : 54062620628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR owedl A 9 39 faweu &1 97 &% St feU 7T are & Ul & N &1 Ug! fameu gl

98 faq WR Ag-Td Rl YT a9 T d g3l
Options :

1. % RYIdD

2. ¢ IS

3. % TIfdaIY®

4. % HgaEiy®

Question Number : 91 Question Id : 54062620628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRed Uy |, IR faeel 7 T, 39 fdwed &1 999 &3 o1 feT TN 9190 & U&l & Ue &1 Jo! [dbed gl |

98 faq R Bg-Td Rl YT a9 Tl g3l
Options :

1. % ARUTID

2. ¢ JRGdD

3. % gafadIy®

4. % FIdEIY®

Question Number : 92 Question Id : 54062620629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy O aR fowedl 0 O, 39 faw ey &1 o+ o< St Ug! favry g gad 919 &1 fadweq 31|




Options :

1. % 9% TR gHad TIE fHdre- eifuar 99 IR sife &1 ed ware tudi & |
2.« 98 TR TS , WMt feare. siita 99- Ry onfe &1 gea wara Tadi ¢ |
3. % gg R EHad , &y fhde siivgi U9 IRre onfe &1 9¢d @are wa@di ¢ |

4. % 98 TR Sadh Tem frame- siftat i4- ORe ofe o1 9¢a ward x@dt &

Question Number : 92 Question Id : 54062620629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed us § R fadbedl § 9,39 fddhed &1 9= I Sl gl {aRH g ot a1 DT [dbed B
Options :

1. * 98 TR gHas WI&Ne forare- 1t 44- Ufe anfe &1 9cd e 3@t € |

2. ¢ 98 TR EHTD , WM fhare- wifvar 99- IRy 3nfe &1 9eg waura [adi € |

3. % g8 TN EHID , W fare Sifar 47 9fra 3nfe o1 I¢a Tare 3@l § |

4. % 98 TR rHas Geny e s OH- Wt anfe o1 ged @ TE@d 8

Question Number : 93 Question Id : 54062620630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 7 IR il °§ ¥, 39 fah ey &1 Ta B3 W feu 7Tu Aiopifar o1 gl if arar fasea 8|
RIS SREYEM T &, THTS T TS =

Options :

1. ¥ BIC BHH Y o FSH & dad g1 HIH T TS Sl

2. % ¢8I gy IS BT g

3. % 3MSIhd Ba! anT gl A 3STd &

4. % Y7 O B SU dl DIs §1d 8], TR IR -1 78T 8T

Question Number : 93 Question Id : 54062620630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad vy 7 IR ol °§ ¥, 39 faseu &1 Tu 3 o feU 7T diopifad o1 Tal 3rf arar fased gl
ST SBRIE 7T &, TATST 7T TS o=

Options :

1. ¢ BI¢ B Y I GoM & dad gel B Tdl U ST

2. % Y8 TeY TSI BT B

3. % 3fTofhd HYa N &1 HISl ISTd &

4. % ¢ 07 I SU dl PTs d1d al, TR T §1 61 Ie

Question Number : 94 Question Id : 54062620631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o aR fadwedl O 9,39 fadhed &1 9= & Sl fau T GeTar &1 Ha! 3 arar fadwed gl

i H WISl gHT-

Options :

1. ¥ U G8 IR ORI g gl
2. % QUG Gl

Question Number : 94 Question Id : 54062620631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us o aR fadwedl O 9,39 fadhed &1 997 &3 Sl fau U GeTar &1 Ta! 31 aran fadwed 51|

®ig H W@ gHI-

Options :

1. ¢ U g R GIRI -9 BT
2. % QUG Al




Question Number : 95 Question Id : 54062620632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us o, IR fadwedl 0 9, 39 fadhed &1 997 3 S faU T GeTar &1 Ta! 31 aran fadwed gl

BT TS SIS
Options :

1. % TRIIST AT

2. ¢ Had foa1-Ug! Hd T

3. % a1 d1d HRb HF UgdH]
4. % ST YAY UGTs H T I aTell

Question Number : 95 Question Id : 54062620632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad ve o, IR fowedl O ¥, 39 fadhed &1 797 & S faU ¢ GeTar &1 Ha! 3 arar fadwed gl

BTSN UIS SIS
Options :

1. % gRIfSTd AT

2. ¢ Had [aE1-Ug! Hd e

3. % a1 d1d Db HY YgarHl
4. % X IHY UGTs H o1 Ig+ aTe]

Sub-Section Number : 2
Sub-Section Id : 5406261167
Question Shuffling Allowed : Yes

Question Id : 54062620633 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

T TR &1 AFYdd Ue 3R IR faded! § 4 Udd Uy &1 Farad SR g |



AGD HRA BI T DR TG Y71 T8 U 1 3IR U e & ATl b1 URIGe g1 U1 | Hed ol Ga ! bRAAT drgell Tl 3foh AR &
G T THT 7 HR UM & HRUT fAGIg B1 HIGHT TUT TR S I o1 A1 SWTS BhT U 91 D1 &1d a1 AT | g - aRdidds HRd o
JETR IR B1 | TRID 3T ST 1 SAYRUN P HleUf-ids ol a1 el | 3P forg HRA & arTl o1 It fafaerar & Ty s g1
NG A Rt Ieiie &) ST Bel s gran| HRd ) fafdedr ¥t 3reyd ® (uee w0 # 18 fowr usar? |

Sub questions

Question Number : 96 Question Id : 54062620634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG &b SR G fohdep! TR B 8T UI?
Options :

1. % 3O Tl &I

2. % U bl

3. % GBI

4. ¢ YR DI

Question Number : 97 Question Id : 54062620635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?ﬁqwaﬁwq (‘NOan AT dTgdl YI?
Options :

1. % fRiférd ot

2. ¢ T

3. % Jagar

4, % Jraa

Question Number : 98 Question Id : 54062620636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd o1 fafgerar st 32

Options :



1. ¥ ST
2. # HHY
3. % 3HMH
4. ® 9N

Question Number : 99 Question Id : 54062620637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR BT Ta! Gard Xeg o 62
Options :

1. % Silellq

2. % 3

3.¢ 1Y

4. % WY

Question Number : 100 Question Id : 54062620638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y TG B Dlg SUYa ANVD -
Options :

1. % SRS R R YRd

2. ¥ HRd I T

3. % YRd 3R IUD! fafaea

4. % YRd & AR D STURT

Question Id : 54062620633 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

T TR &1 HFYGD Ue 3R IR fadedl § I Udd U &1 Farad SR g |

oG HIRA 1 qTR B g1 UT| T8 S0 a7 3R 31011 fose o TIIT b1 URITeh =T8T UT| Hell T Ga aRarep| 1 drgal UT| SISl 2 &
Gl T U1 1 R UM & HRU [AEIE B UG TUT TR 3 AT &A1 A1 SWTS W1 30 9= &1 a1d el AT | Age = aRafdd YR Bl




TR = DI | TGP 3MTH ST DT STYRUN Pl Hle-db ol ST A1l | 3Hb 1T YR ob ARl o1 IR} fafdedr & Iy sifda 8|
NP A Rt Ieiie o) ST el s grn| HRd 1 fafgedr 1t 3rgyd § (U w0 H 18 foar usar g

Sub questions

Question Number : 96 Question Id : 54062620634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG b fTHR Teh fheeh! eI PR TG UT?
Options :

1. % 3fU T1q Pl

2. % SO I

3. % @

4. ¢ HRA I

Question Number : 97 Question Id : 54062620635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 1 T WY dep BT A18dT UT?
Options :

1. ® Rféa o
2. ¢ eOa
3. % I
4. % Ja it

Question Number : 98 Question Id : 54062620636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA B fafderar »t g2
Options :

1.V 3y

2. % {qMHY

3. % 3H



4. % 9

Question Number : 99 Question Id : 54062620637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QTR 1 Ha! Ui ard Weg 7 52
Options :

1. % 3l

2. % 3Gl

3. XY

4. % oTquf

Question Number : 100 Question Id : 54062620638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G BT Dl Iugad XMeb -
Options :

1. % 3T A 3R YRd

2. ¢ HRd B T

3. % YRd 3R 39! fafaean

4. % HRd b AN Pl SAURUM

Disciplinel
Group Number : 6
Group Id : 540626772
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Disciplinel
Section Id : 540626969
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261168
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062620639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faoz s== s=5a fAw 9 9o&T &af 97
Options :

| % WIS Ew

, x BB EE

3.v TIFTY

e =g
4. % T



Question Number : 101 Question Id : 54062620639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faa7 =% a75d fiw &t 395 &df 97

Options :

| % WITSr a3
, x BBEEH
s v TIFTY

s 9T

Question Number : 102 Question Id : 54062620640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mides fiw ag% 2 a=s &t e feRmar 9
Options :

AHHE SIemi W2 fgReors S weanRa URaTst

1. =

5 o THETT S 5% w2 ST St wEIEd ORaSt

;% FHTAS AeO & Hafefamraa ORearat

, xS AHH-AEWETS St yEiaHE URart



Question Number : 102 Question Id : 54062620640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gides fifw ag% @ a=s &t 1y fedma o
Options :

AHHE SIE w2 fgReraTa S wegRa UHaT|

1. =

, o THEST S ISE w2 S=T S TEIEd dRaSt

;% FHTOS AEO S Hafefamraa Omarat

, xS FHH-AEWETS St ySaHE ORerst

Question Number : 103 Question Id : 54062620641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Urrst 2 oo aes foo fia il § afea = & yrgs iz famr 32

Options :

~

W
E:H ST &

1. =

, v & uzEa fRw
; » iz

4 % I SWES



Question Number : 103 Question Id : 54062620641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Urrst 2 ooz aew foo g iz § ofea 9= 3 yrgs iz famr 397

Question Number : 104 Question Id : 54062620642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fags o= AA=s fiw d== < 9o &< 97
Options :

| T s

UISHH

2. w =

Bg o 3l

3. %

4 % SEE S IR



Question Number : 104 Question Id : 54062620642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ooz o= FA=3 Ry d== S o9& &t 97
Options :

| T e

UISHHE

DW=

Bg = 3w

3. %

4 % SIS IR

Question Number : 105 Question Id : 54062620643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afes Taad, Hafelimasd 89 T8 U3aes!, Uated Hice o wibfsd gui3ss we §3H-yot faeaiza ndt
(TR ggreiarg o a8 fAgae € B8t 967

Options :

|« 939 R ETE

b % WHIZ ST

.



L % . grrs iy

Question Number : 105 Question Id : 54062620643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Afes aeraa, Hefeimsa 897 T8l w3aes!, Ustea Hice T wiglsa guisss w2 €3v-yaidt fiasziza vt
for gostas & 95 fAga= 2 28 957

Options :
|« 939w g

R EE-c

. i

4 % . grrs Ry

Question Number : 106 Question Id : 54062620644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gz=3 fiw fega & OF< o So7e! Aeffo B8t 3793t g3 wWareH & weas fHignwm?
Options :

| v BRBI

, x SOTEYT



3 % BT EH

. » RRHE

Question Number : 106 Question Id : 54062620644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gu<3 fiw fega & R o SoTe! Heffo B8t 3793t Aoz wareH = weags fHignr?
Options :

v BRBF

, x SOT BT

3 % BT RS

., » TR

Question Number : 107 Question Id : 54062620645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T wadh w3 wigs 3 I faA 2 FurE Ao 957
Options :

L% Fafows Ry

, v BFS Ry



3w A3 Ry g

4 % Higes fAw Fas

Question Number : 107 Question Id : 54062620645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e e w3 Higs 3 99 faA 2 aurE Ao 987
Options :

| x TStens A

, v B Y

3« A fRw g

4 % Higes fAw Aas

Question Number : 108 Question Id : 54062620646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fes o2 fagz ge wHiz 39 & 95 37

Options :




+ « TR g, A3 &

, » RIS & gErs

Question Number : 108 Question Id : 54062620646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fos fe2 fogz e wHiz de S S5 37

Options :

, v HIwE T, BT

Question Number : 109 Question Id : 54062620647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U YaH $ G 2 fan STt Haffo B Aa3 wareHt AaHs &% faarfmir famr?
Options :

1%1-13'3?

-

) » AR S fagr At



Question Number : 109 Question Id : 54062620647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I YaH $ G 2 fan FT=t Aaffo B8 Aa3 wareHt AeHs &% faarfmir famr?

Options :

LHHE’B"T

-

, » FegEg s oo/

=

s v T WEfT &

4 % SSEES I I TTEm

Question Number : 110 Question Id : 54062620648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

st AEgaTH Afg= oo farA o =09 s o7

Options :

| » I fRwEse

) v TBIH A IS



3 % B8 TRW HS wardt

4 % A A WHE

Question Number : 110 Question Id : 54062620648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

St AEgaTH Afg= fog fan o =09 tee's &7

Options :

| = JorRw e

) v TBIH A IS
3w % TAW aHET wardt

4 % FA A WHE

Question Number : 111 Question Id : 54062620649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T g fiprsT ) wigsT ge g, a8 of LED SOt g9 S ¥ FI3T AT F7

Options :
| % JI99s fRw

Ig9g95 AW 97
2‘ e -t =



L % HI A

| v EIE B A

Question Number : 111 Question Id : 54062620649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fox wd flmrsr, wigsr geger, &8 & 590 391 939 &ed F g9 3F 97
Options :

| » IIuIs fRw

Ig9g95 AW 97
2. s - =

s« HZ Ay

, o T B A

Question Number : 112 Question Id : 54062620650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IETI5 Y FE7 & 955 &

Options :

| ® I 3HA

, o TG - TS W



L% s e

Question Number : 112 Question Id : 54062620650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IETI5 Y FE7 & 955 &
Options :

| ® I 3HA

- a@w-ﬁaw

L% s e

Question Number : 113 Question Id : 54062620651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HI= HIe &, Setf St 59 &' [ 78l 575 sz 97

Options :

| v WERISTS

, % HafEIMmrsa



3_@&%@31-93

4 % THEIFES

Question Number : 113 Question Id : 54062620651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIe HaI= T, TSt =t =91 sea o/ 78 58 Aoz 37

Options :

| v WERIST

Question Number : 114 Question Id : 54062620652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&&a friw &t 72 A=dt o

Options :

L\_ﬂ,ﬂaﬁgﬁw’*

L VTS fom ud



HE 57T

3. % J

, » I T Um

Question Number : 114 Question Id : 54062620652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&ad fiw &t 72 At=dt o

Options :

| PSS
» % HAS for Ut
_ HE I

, % SRS EUT

Question Number : 115 Question Id : 54062620653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BH2US Soo T AfI3 JU o
Options :

| » sz feso

> % FeRrEat



3. ¢ iy fgzg

4 % FAAHIE

Question Number : 115 Question Id : 54062620653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H2US So& T AfI3 qU o

Options :

| = BfEzfeso
, % FeArEat
3 = fazg

4 % FAHIET

Question Number : 116 Question Id : 54062620654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
w3 e 3w Idts=I?
Options :

| v oz 39 oo femem



o=t famis IfRs Iga

, » o=t gar g sfow

Question Number : 116 Question Id : 54062620654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mHz feg 3de Fdte=dr
Options :

| v Toz o9 oo femem
3« o=t famrs ofRs Iga

, « o=t gar g sfow

Question Number : 117 Question Id : 54062620655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
58 79 gem 2 for fisfid &% Aeg Sy I7

Options :



3_@&%@

4, v ES

Question Number : 117 Question Id : 54062620655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
58 79 gemw 2 foam fisfid &% Aeg Sy I7

Options :

4, v TSI

Question Number : 118 Question Id : 54062620656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7 I3 3= mios oo fasdt arfe-gu <t 593 foo2 selas S &3t 392

Options :

I3 5754, I12 IEIS W2 I WaHS
v TS it

, » 3913 IETH, Tg WHISH W3 Ig THEH



|« T3 T 592 g w3 I nisre 2

3913 TEIG, TG THEH W3 T WIS

4, %

Question Number : 118 Question Id : 54062620656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T I3 3fF Fios feo fast afe-gu & =93 foug selaar S @5t 97

Options :

I3 5. FI13 TEIS W3 II WaES
Lv T8 =S

3913 IEITH, I WHIEH W2 IIg IHEH

2. ®

s x T TS, 3913 TG W3 P WEE =F
2dl= edb?id. 31g STHE'A W= J1F WaAs

4‘%5 - -

Question Number : 119 Question Id : 54062620657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H I Afox ke cor fagat se s I S wag & I7?

Options :
| » SSIRS T

) % AT TS



3 % TR O T g

4 v SRS S TI

Question Number : 119 Question Id : 54062620657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H g Alor e cor fagdise s IR wag 7

Options :
| » SIIRS TS

» % AT TS

, % HIASTSrTg

4 v TSR3 S TI

Question Number : 120 Question Id : 54062620658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7 99 3fu Ao feow faozr 991 3. AR fee =g gg ST Soss &S Fef 29 97
Options :

| % I YTt

T g

2. %



3 % 99 Sedigat

4 v TIATEIT

Question Number : 120 Question Id : 54062620658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

7 33 3 wios oo faor o919, AR o =g gg 3a soEs S Fer San 7

Options :
| x TAYEE
2. =
3 % I S=giTTat
4 v T AAEST

Discipline2
Group Number : 7
Group Id : 540626773
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 540626970

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261169

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062620659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ig 554 =% 7 gweT Ifg3 IE

Options :
| v HE ST

) % SFIAT I
3 % IHIAE S TI

4 % AT TS



Question Number : 121 Question Id : 54062620659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
J9 54 =€ A gweT 393 E

Options :
v HE St E9

), % SIIAT TS
3 % THISE S TT

4 % AIIISTI

Question Number : 122 Question Id : 54062620660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7 33 3f= wiow feg 3913 anes gwrer Sfes Aeer & farest 3

Options :

| % TE
, » T RTT
, v fEEgs

4_@51%3[3"'&‘!'



Question Number : 122 Question Id : 54062620660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7 313 3f= wioT feg 3913 3 owrer Sfoz Auer & et 3
Options :

l'wm

, » fEE R gt
, v TS

4.ww

Question Number : 123 Question Id : 54062620661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WEE WEJ g3 Gufonr HeE € J93T 96

Options :
339 S&d 2= A

1.2;5 bl —

) v SIB TSI A

g Iifde flw =

3.2;5 _—

5913 f330s A

4, %



Question Number : 123 Question Id : 54062620661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WEE WEJ 39 GuUfonr HeE € J937 I8
Options :

S EGGEE

] ® =3

» v BI3 FEI A

gg difee iy =

3_%5 bt —

5913 f339s

4, %

Question Number : 124 Question Id : 54062620662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T wie I[F =T T AIss IR AEs €3 s famire
Options :

| % JBAI ASeS e fams
, » ToSOFT Aosg © fass

v ITHAS AI=3 2 fasg

i m o
4 % ddidnhcg Hlid=



Question Number : 124 Question Id : 54062620662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7t wife IfE =7 T Hass fan "Ers @3 ot famre
Options :

| % BRI A9=d € faae

= ey =
, % ToooRg A9=g © fass

3 v IHAJ Ao=d < fasa

Fa n o
4. % didAcd HidS

Question Number : 125 Question Id : 54062620663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

913 IfeeR A 2wrgr Ife3 FeE o

Options :

| v SRHYT AII I I

- IR SwIgITg St femwfy
;% TEIEPHEBST TY

, » [BST TwHg ST I



Question Number : 125 Question Id : 54062620663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

913 IfeeR A 2wrgr Ife3 FeE o

Options :

| v SRHYT AII I I

- IR SwIgITg St femwfy
- RGBS T TG

, » [BST TwHg ST I

Question Number : 126 Question Id : 54062620664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J9 Tfor g o s = A I 97

Options :

v 53



Question Number : 126 Question Id : 54062620664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e sforfes TR se S ea3 aist g 37

Options :

v o3

Question Number : 127 Question Id : 54062620665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Ao far 3 3 Uarst fag wifanr 32

Options :

, =

R CL

3. v VI

4. % WIST-ZIH

Question Number : 127 Question Id : 54062620665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

forr mee far g 3 Uarst fog wrfenr 32

Options :

1. = n i
2_u3’3ﬁ
3. v I

4 ® WIS-Z A

Question Number : 128 Question Id : 54062620666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forrars fon 2 fam 31 fog wuE fome yFt Jes ager J7

Options :
=H EH -Sdeo

1. =
7 « HAI&TGd=

, » Sfezs-fgzas

4 % FfEEIe o UFarst AN

Question Number : 128 Question Id : 54062620666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

forrars ol 2 fam 31 fog whuE fome =t des ager J7
Options :

SHZ-=JES

1. =

) HIBTOdE

L) o
3. % vidad-lgdode

4 % STEa3= o UFarSt AR

Question Number : 129 Question Id : 54062620667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"WEE IHE yerfe T fege diR, foma &z § /91 = y® v arfe-rae fam foAars @ 957

Options :
1 % d'egun'd

, % THH AT

3. v FIOREY

4 % SHS HJ

Question Number : 129 Question Id : 54062620667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



"WES IHE yee = fege AR, fera ot § =91 = y® v arfe-Rae fam foAars S 57
Options :
1 ® diagdldld

» % THEH A

3. v TR TEY

4 % Sxd HdJ

Question Number : 130 Question Id : 54062620668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oA Y3 3913 foam & mroarg 355 7

Options :

| % Tied SIHIES
7 diggdl’'d
3 % G WETS

4 % wioH=Eg

Question Number : 130 Question Id : 54062620668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fom YIS 913 o/ S rgarg 958 97



Options :

| & JSH SIHIES
) o degu'd
3 % G WETg

4w WTHEES

Question Number : 131 Question Id : 54062620669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T B I A I?

=
Options :

) % ggle3 Yd'=s

;, v HIESH YT

, x TFITYTE

Question Number : 131 Question Id : 54062620669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SSid TS Ty A I?
=

Options :



g3 Yd'=

;, v HIESH YT

CIEERICR

Question Number : 132 Question Id : 54062620670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fes fog fagst o= U9 yave ewe Sfgz 97
Options :

| v Sfewr St g
, % dEIHT T =TI
3 % SAEI S T

, x WEE S TS

Question Number : 132 Question Id : 54062620670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fest fog fagst o= Uig vave ewer Ifgs 97

Options :



| v Sfewr St =g
) % FEIHT O TI
3 % SAEIS S T

HAT&T of &9

Question Number : 133 Question Id : 54062620671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIgE IEA1g Ry Ifonr Jer 5% 79 2 Hea foufe famr, afe-rzg fara@ St 37
Options :
1 ®% degung

, v FdHHE

Question Number : 133 Question Id : 54062620671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIgE IEA1g Ry 3w Jer 5% 79 2 yEa foufe famr, afe-res farad@ St 32

Options :




3 % g HIoHE

4 % EF”EIF[T:FEI

Question Number : 134 Question Id : 54062620672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
803 &8 faR © AHaS 7a5?

Options :
| v HESd &'H

, % a9t FH

Question Number : 134 Question Id : 54062620672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

803 &'H fan 2 AHaSt 75?

Options :
| v HE=I &H



Question Number : 135 Question Id : 54062620673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fam feses & a-meiv 2 A3 § A 3 ufos A=t Arfo3 feg mars iS3m7
Options :

w14 3 T
, % FI fiu s
3 v 3. TS iy S

4 % . A IH ITE

Question Number : 135 Question Id : 54062620673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fam feses & a-meiv 2 A3 § A 3 ufos A=t Arfo3 feg mars iS3m7
Options :

T 3 B



, % HI i s
v 3. WIS iy S

4 % 3. HZTIH aIE

Question Number : 136 Question Id : 54062620674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J9y-I=t fag AfEz 37

Options :

| » fAomH fes
) v =g fee
3. % WETS

4 % frsae

Question Number : 136 Question Id : 54062620674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J9y-I=St fag AfEz 37

Options :

| = THomHfee



Question Number : 137 Question Id : 54062620675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SE-ATI3 ¥ AH-38 21
Options :

| v sE-108 mat
, w 7E-8F At
3 & N&E-128 7

4 % 158-16% At

Question Number : 137 Question Id : 54062620675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SE-ATI3 = AH-37S 2R
Options :

| v 8=-10% "t

, w 7-8F A



3 % 11E-128 7

4 % 158-16% A

Question Number : 138 Question Id : 54062620676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wifizr iz € fam arfe-Fefo & fimrsvis yarars yuz Ifenm
Options :

x Ho93

1. =
, » AT o fde st
;v T9H 2 IE5SH

4.z~sm'|'§r

Question Number : 138 Question Id : 54062620676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wiz Jisw 2 fam arfe-Fefe & fimmevts yemars yruz Ifenr?
Options :

x H&I3

1. =

L« Boedu o fied



3 v I9H 3 SE5SH

4 % SEHE

Question Number : 139 Question Id : 54062620677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wfse A=t af23T = 96K fan 7 feg Ifewrs?
Options :

| % 18% S
, % 19% Wt
3 « 20% At

4. % 21 At

Question Number : 139 Question Id : 54062620677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wofsa Uarst afesr o 7K far #er feg Ifewrs
Options :

| = 18 Ft

n ® 198t AT



3 @ 209 7

4 % 218 A

Question Number : 140 Question Id : 54062620678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U8 AT arfe-Aejfo fes fam s = yuer Jfenr fiser 37
Options :

| % S3

, % BueE
3_;/%

4.3.4'%37:?3&

Question Number : 140 Question Id : 54062620678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
uE AT arfe-Aejfo fes fam S = yuer Jfonr fiser 37
Options :

| % S3

2.3.45?‘7-{5"‘[



Discipline3
Group Number : 8
Group Id : 540626774
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 540626971
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261170
Question Shuffling Allowed : Yes



Question Number : 141 Question Id : 54062620679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I3t Figz waeHt UgFas YU afs-Hefu g

Options :

| ® Hed &2

) x BIF RIS
3 % o= I&TE

4. Ha AEmT A8

Question Number : 141 Question Id : 54062620679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I3 ATz waeHt UIRas YU afs-He[fv g
Options :

| % Hed &2

) % BfIF RIS
3 % o= I&TE

4. He FEmT JIg

Question Number : 142 Question Id : 54062620680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Hos fag g== g Afeg fag X & Host afe-Ras far afesr =t 37

Options :

| % WETIIE

) v TH3
; x FHUSTIH

Question Number : 142 Question Id : 54062620680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"I fos sz J wies Ao H & vl afe-Res fam afesr & 97

Options :

| % AT

) v THI
, x SR USTI R

Question Number : 143 Question Id : 54062620681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faoz mr nifizr isn @ Aies-as 8 Asos 97
Options :
| v 1919-2005 =,

» % 1918-2006 &,
3 % 1919-2007 =i

4 % 1920-2005 =

Question Number : 143 Question Id : 54062620681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fooz m wifizr Jisn @ Aies-as 55 Aeus 97
Options :

| v 1919-2005 =,

» % 1918-2006 &,
3 % 1919-2007 =5

4 % 1920-2005 =

Question Number : 144 Question Id : 54062620682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
faozr arfe Aapfa Yo U=t &t mes= &% ASoz &<t 397
Options :

TS, O 3 Sfawr

I.H - =

Question Number : 144 Question Id : 54062620682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faozr arfe Aapf Yo U=t &t o= &% ASTz & 37
Options :

NS, O 3 Sfgnwr

1_%-5 - =

Question Number : 145 Question Id : 54062620683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B3I FE afe Aefo fam & I5& 97
Options :
| % II8As TRy

) WMEIIUH

3 % T EH®EI

4 » % Ay fos

Question Number : 145 Question Id : 54062620683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BI I afe Aefy fam & 35& 97
Options :

| % IIFAS TRY

) v WEITUH

;% T EHBES

4 x B8 Ry fos

Question Number : 146 Question Id : 54062620684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HIHZ U3s g I3 arfe-Aefa fagar 37
Options :

| % ST wWBY

, % WfII HarEt I
3 g< feg B2 g9

, « HEEERI

Question Number : 146 Question Id : 54062620684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIHIZ U3s g I3 arfe-Fefla fagam 37
Options :

| % ST WEY

, % AT HIE I
4 g= feg &9 g9

Y€ I

4, %

Question Number : 147 Question Id : 54062620685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
yast Uare feg S8 Jre =it Uarslh st Shif Gusmre = At 9 o
, % HEL HBSE USTS HBI A,

s x HE st HEed, fgreet

4« HESELHTEL W BigS

Question Number : 147 Question Id : 54062620685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
yast Uare feg S8t Are =it Uerst st Shif Gusmere = w9 o
, % HEL HBSE USTS HSI A,

s x HEEwrst HEEd, fagreet

4 » HESELHEL W BigS

Question Number : 148 Question Id : 54062620686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

st St 1St QusEr S o feREsT &t 3
Options :

| % AR SrEI3

, v FEEI T3

-

|-|‘|
3 % STHIST S =93

4 % SO AES & =93

Question Number : 148 Question Id : 54062620686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

st St 1t QusEr S urR feRmEsT &t 3

Options :

| % ARSI o I3

, v FEE T3

-t

"
3 % STHEIT O =93

4 % CHO AT & =93

Question Number : 149 Question Id : 54062620687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

st 3T 578 gent et v mre e g 37

Options :

| % g9 B A8 UyIe
, » ASAAE I e

, v YR AS I e

, » TS O TG AE YIS

Question Number : 149 Question Id : 54062620687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s I &8 get it v e fds ygs 37

Options :

| % o9 B A8 yIe
, » A RFE IO

, v YR AS I e

, » BIEd 5 g9 FE YT

Question Number : 150 Question Id : 54062620688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

UesT 377 T WSS HiewT T o
Options :

| v fwast B Bee 3

TIS Aot S 3

2. %
3 w & A S 3

, o S99 A g 2

Question Number : 150 Question Id : 54062620688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YAt 3T = Wigg Hiewr Jer o
Options :

| v fmras 7t gt 3

_ TIS Aot SR 3

3 % &% A OAe 3

4 » 399 Fel SR 3

Question Number : 151 Question Id : 54062620689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o Aue 593 7 2@ AuT 2 AE &S giEwr e
Options :

l.wm

2. % =TS

, » FAES

Question Number : 151 Question Id : 54062620689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Ao foodt 77 @ A 2 A% 575 gfenr a7

Options :

Lzsm

Question Number : 152 Question Id : 54062620690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

st = AeD e o fous fodt ufssg = J7
Options :

- T&S SHS
5> % FH-WIST

3 % Bt

s.v TR

Question Number : 152 Question Id : 54062620690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

st = Asr et o foug fedt ufasg s 97
Options :

- T&S IHS
n ® ArHr-ngst

3. % Bt

oo TR



Question Number : 153 Question Id : 54062620691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HESS QUITH T191 /2/ T8 §/9/ T8 =4 U o Yfeast 99 fam QusEr & 37
Options :

| % HE

Question Number : 153 Question Id : 54062620691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HESS QUITH T191 /2/ T8 §/9/ T8 =4 U o Yfeast 99 fam QusEr & 37

Options :

| % HE




Question Number : 154 Question Id : 54062620692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fort fadt fea® O feuta o /g B

Options :
| % J49H

- AA
;v 3T

4% B3 T

Question Number : 154 Question Id : 54062620692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foudt it feo? d9 fevfa = 7t 9 o=

Options :
| # 99.H

, % ITH
, v 33T

% BT

Question Number : 155 Question Id : 54062620693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Aofes o folt & =22 faost foust v3w &= It 97
Options :

| v AT v w3 viaw

, x AT HET I T TH

s » HET WET W3 BT T

4% Wag, THAF W3 I35 5B

Question Number : 155 Question Id : 54062620693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aofes o folt & =22 faost foust v3w &= It 97
Options :

| v AT v w3 viaw

, x AT HET I T TH

s » HET WET W3 BT T

4% Wag, THAF W3 I35 5B

Question Number : 156 Question Id : 54062620694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

é‘#é‘?é‘ﬂt@'aaﬂi E&'ﬁz 3 9T AE E&E&W@Eﬁ?

Options :

Question Number : 156 Question Id : 54062620694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S F 2 I TUYS AOS § °F 3 5 AU § &l W 987

Options :

Question Number : 157 Question Id : 54062620695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
oz Aee 2 o0 Fee & 9 a9

Options :

. BFr

1. =

) v fE=F
3w fEearg

4.uﬂ'r_.:s’a"?

Question Number : 157 Question Id : 54062620695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fozor Aee = ot e S S a9
Options :

. GTF

1. =

) v &
, » faeas

4_@4?@3’?

Question Number : 158 Question Id : 54062620696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=, 75, 3, wee wis Aee fan =997 2 wigses wER 957
Options :
| » TIWIET HEE

Question Number : 158 Question Id : 54062620696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=, 7w, f3as, wae wic mee fan 2991 2 nizses wee 987

Options :
| % HIWIEA HES

, » fedogsa

3« HHGMIEA

Question Number : 159 Question Id : 54062620697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faoz rue feg wiizg &t =93 &t 997



Options :

, x T

, » HEHE

Question Number : 159 Question Id : 54062620697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faaz ru= feg wiizg &t =93 &t I9di?

Options :

4 v HEHE

Question Number : 160 Question Id : 54062620698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= b
(g3 WSS wWasl IR ASS = &9F 97
Options :




1 ®% oH-
) ® O
3 @ ﬁfE"

4 % -

Question Number : 160 Question Id : 54062620698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e
(a3 WSS Was 9A A9 = &9 97

Options :
1 ®% oH-
) ® O
3 @ &a-
4 % -

Discipline4
Group Number : 9
Group Id : 540626775
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 540626972

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261171

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54062620699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faoT Fee =Sl 37E € WIE § 391 SSHgET?

Options :



Question Number : 161 Question Id : 54062620699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fogsr moe seTs! 3T @ WIE § &l S9FgET?

Options :

Question Number : 162 Question Id : 54062620700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RO, TR, QUTE W T § W T AFs ¥ AT § o oo e I7
Options :




Question Number : 162 Question Id : 54062620700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AYS, TOR, QU 7 T g WA e Aes R aee § S o A I7
Options :

| = fofonr feRms

, » feRms
3_uﬁ§'ﬂa

4 v B

Question Number : 163 Question Id : 54062620701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferfHa Fe= 9! S3fowr 3 o
Options :

| » fecas ==

7 '@UE"'E'EG[
; x DOS 96 B

Stie =F

4, %



Question Number : 163 Question Id : 54062620701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferfHe Aee o/ S9fowr 5= o
Options :

1. ® facag =5t

4 %TEE'T
, « BO3 J35 B

4 x GHEE

Question Number : 164 Question Id : 54062620702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T S g3 HIA Yo {99 wes = §ed 97

Options :
| w g3 g S

o o
5 x SS-TEHE IIS
3 v TR

4w WE-ZIF FIA



Question Number : 164 Question Id : 54062620702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T WA HoET f99R weE ¥ §ed 97

Question Number : 165 Question Id : 54062620703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore Yios g voes & =93 fau wew feg it =it 397
Options :

1 % =i R =

)  OH BHAEr TET

; » g A

4 % SHYIH &9 2F



Question Number : 165 Question Id : 54062620703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Yios uge voes & 593 fao wee fes =it =it 97
Options :

| % ForodaE

>  BH BHEE ATE

; » EHg A=

4 % SHHIH I 2T

Question Number : 166 Question Id : 54062620704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
vE &8 fowra S0’ S waw § A gy e w9AgE =8 wiiE & usTE &9
Options :

| % HE O& S WS
, % SEINTIUT
, % OF T, 5IS Wi



Question Number : 166 Question Id : 54062620704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y& &8 fowra 50’ S wew § A 9y e =98 T8 wiiE & usTE a9
Options :

| % BHE 9& 99 WS

) % SEINTIUT
; % O T2, HIH wrE

Question Number : 167 Question Id : 54062620705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yE-UtE 2 39 fowa St B9 233w 7 T8 WTE O
Options :

| % feEwsag R faug

, « B9 foaad et a9t &t welt

, v PR ITUT3, GBI A 9

, « FIT IS B3I WreT wr et g3t



Question Number : 167 Question Id : 54062620705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y- 2 39 fonwa St B8t 233w JTE % wHTE O
Options :

| » fEEwsg B fas

)« G forh It T 3t o vt

, v PR ITUTs, R I A

, x FIT FIF H3 wrer o et S

Question Number : 168 Question Id : 54062620706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UIUTET fenragst fog far fewagad =991 & AST 59 W2 HE' & B9eg AT 575 Hienw™ 3= 97

Options :
| ® TH6

) ® A&

3 % odgd

4 v T



Question Number : 168 Question Id : 54062620706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sy fewargst feg far fowagss 2991 ©F AS0 &9 W2 He' @ BYEg Aot 7% HiewT Jar 97

Options :
1 ® =TS

) #® A&

3 ®% d'gd

4 v B

Question Number : 169 Question Id : 54062620707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Urrst Aee He ©F Sgees Aumel 99 3

Options :

1% HET
) % HEMT
3. v HEm
4. % HEIE

Question Number : 169 Question Id : 54062620707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Urrst Aee He ©F Sgees Aumel 99 3

Options :

1% HET
) % HEMT
3. v HEm
4. % HEIE

Question Number : 170 Question Id : 54062620708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WED 7u< fagzr 37
Options :

4 & FEHTE

Question Number : 170 Question Id : 54062620708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



WED 7u< fagzr 37
Options :

4 & FEHTE

Question Number : 171 Question Id : 54062620709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HO FeE S UE'E a3l
Options :

Lgm

h ® Mdd

o TR

3. =

4'%,55?:?'1

Question Number : 171 Question Id : 54062620709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7O Ao S UE'E J3l



Options :

LJFFBE"?

4&49@@

Question Number : 172 Question Id : 54062620710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ~ ~
O 7 °f o d9;
Options :

Question Number : 172 Question Id : 54062620710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

> = -
B0 Fee ©f oF a9
Options :



Question Number : 173 Question Id : 54062620711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fest fe< fags A= 5O 97

Options :

Question Number : 173 Question Id : 54062620711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fest fe2 fooz A= 5O 37
Options :

Lué?.l?



Question Number : 174 Question Id : 54062620712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frGer 33 59 3t =51 e I = feu foo2 < feman o B3R 957
Options :

. D) IS ()

1.
, % FH-fES ;) 3 FS (1)
s % FH(,) 3 3S()

, v [EHE 5 (1) 3 5310)

Question Number : 174 Question Id : 54062620712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAer 39 59 35t =31 Oe = = feu fao2 < femen 9 3R 987

Options :

. BEE:) IS ()

1.



, » aH=-fEEt (o) TS (1)
5 % @H(,) 3 3S()

, v [EHE 5 (1) 3 5310)

Question Number : 175 Question Id : 54062620713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
far T feg fereH fds & 7t =2 &4t 917
Options :

|« T, fAeT go3 ga e 3 A g Ta Ui 31

, x SF2. WS IS T gE & I8N
, v I EEGT AT AT I

I, # feg fazs ug ==t I

4. %

Question Number : 175 Question Id : 54062620713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
far T feg fereH fda <t 7ot =2 &4t J9ei7

Options :




fog oes, Moz T3 Ju e 3, A g 9 ufgw 31

SA3, NSt 318 T I & JfaS
, v oI GEGIT I S FIT I

I, H feg fazs ug ==t I

Question Number : 176 Question Id : 54062620714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fest fe2 Fogs =9 &t usTE a9

Options :

|« B v w I3 famim

, x TR ¥ AgE &I e 89 u3 I 7rE

fefenwrgst fazrg ug 39 7=

3.¢

4 % A% 99T T8 AT THES gT IS

Question Number : 176 Question Id : 54062620714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fes fe AO9s =9 &t UE'E a9



Options :

|« BIAS wifew w2 I fam

, x TR ¥ AgE &I we 89 u3 I 7E

s o [EREIE a3 ug 59 95

ral e i my
, % IFS JOE T AT THEH g I

Question Number : 177 Question Id : 54062620715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fes fe< U=t © wismrerst &7 & UE'E a9
Options :

|« Tem faE Je e wrt

, x PoE fadt gt =t forasera H
, v RIS a2

, « S AT AR 9 g 9

Question Number : 177 Question Id : 54062620715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fes fog U=t © wismrerst 7 & UE'E &<
Options :

|« T a2 Je fem wrt

, x PoE fadt gt =t forasera w
, v RIS a2

, x S AT AR I g 9

Question Number : 178 Question Id : 54062620716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foggr Jarst = fowah = & 37
?p;log%mmwma
5 o HZT BT QT Wi wRar 7 &

| x [EREVTE ugs e e 35

4 % fimrg feg WE Sfow @ sos afesr I8

Question Number : 178 Question Id : 54062620716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fag=T Uas = fawrshr =g &t 97

Options :

| % IS 93 fog urgegRt waer B 9

) o TS G Wi nrar 7 o
| x [EREVSE ugs feg anee 95

4 % fmrg feg Re dfow @ oo afesr I

Question Number : 179 Question Id : 54062620717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, Yyraerst w2 wiimrerst & Asg Uast o @ fam ue & 37
Options :

| v TIFUE

) % WIH UM

Question Number : 179 Question Id : 54062620717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



femmrainr, Yrasest w2 witmirerst = Asg Jast o 2 fam e &% 37

Options :
| v TEH U

) % WIE UM

Question Number : 180 Question Id : 54062620718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

st T € T99la9s € © YHY WS I8
Options :

| % WIH F ISEH

) v HE3d 3 TIA

oU 2 TIA

3% =

IU 2 WIE

4, % 5

Question Number : 180 Question Id : 54062620718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Urrst e @ T9aEs © 2 YHY W I

Options :
| % WIH I T9H

) v HE39 3 F9A

oY = TIA

3% =

IU 2 WIE

4, % 5

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Discipline5

10
540626776
0

0

No

No

0

10

No

Discipline5

540626973
1

Online
Mandatory
10



Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261172
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062620719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Or & gwa 7 3 fazre v T & JE faedt 97

Options :
| % HOJS 7

, x FEI3 T

, v HAIS T

4 % TErSh =

Question Number : 181 Question Id : 54062620719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
€ & S9 = & fagre v Ta & gE faest 37

Options :
1 ® HOGS &1

5 % AEas oo



; v HAgz =

4 % oS e

Question Number : 182 Question Id : 54062620720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

st fog Aogs o9 & At 39S O

Options :
| % I3 fafonr a9

» v T3 IIH fafowr

o

3 % SFGH IIIT F9T

4w TS o+ a3

Question Number : 182 Question Id : 54062620720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

st fog Aogs o9 & At 393 O

Options :
| % I3 fafonr a9

» v TI3T IIH fafawr

[ ]

3 % SgH II3T TdfanT




4 » Tafonr soH a8z

Question Number : 183 Question Id : 54062620721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A@as o g2
Options :

| % FHS 3 ws o @ ag
, # SEEF T AT

, v FHG QU T AT

, % S wIiE QI T AT

Question Number : 183 Question Id : 54062620721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Agas o9 g
Options :

| % FHS 3 ws o & 39
) % SEEF T AT

, » FHGE QU T AT



, % S wiE QuEa T AT

Question Number : 184 Question Id : 54062620722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

q239 2 U9 3 U= I e v § IS ser fem Sl wier 97
Options :

1% WS

, v 38

3.u?-i1_-|'

4 % d'gd

Question Number : 184 Question Id : 54062620722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g=239 2 Une 3 uFs s e v § &S sr few o wier 97
Options :

| # WE

, v B8

3_@&?-31_-[



Question Number : 185 Question Id : 54062620723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgaz T <t 5=33 fowadfaa e wist J<r I7
Options :

| % AOSS Eer o

, « AgeF T =
y v HAIS Ta &

4 % TS Ta o

Question Number : 185 Question Id : 54062620723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a3 T &t =39 fewasfaa 1 wirt g<t 37

Options :

| % AOTSS a0 o
Ao =rar ot

2. a‘\s -

y v HAIS Tar &t



4 % FASOIS e o

Question Number : 186 Question Id : 54062620724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Az fiw A = 7= ‘THaS ﬁ-mnérg OH 5% AsSgs 97

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1 'd& H'JolH

LGN E

ge Sifde flw &

3. ==

4. Bfss

Question Number : 186 Question Id : 54062620724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Az flu ™ = seg Hes imm § far a8 Aoz I7
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :




'd& H'JolH

LGN E
313 Sifde fiw A

4, Bfes

Question Number : 187 Question Id : 54062620725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ut 83 Het se-0939 feo A3 2 =0 foesva tees farer 37
Options :

|, v TOHIS

) x OB OBETE

o995 @'H fAD
3‘ e =

4 % WEAS WEY

Question Number : 187 Question Id : 54062620725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 39 Het s2-839 fog Az F =0 foeavg tees farer 97



Options :

| v TIHSS Ay

) % OB OBTE

995 @A fRg

3. %

4 % WARI wWEy

Question Number : 188 Question Id : 54062620726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

i 3 By

5 v TR fAY

;% . HSHS AW

Question Number : 188 Question Id : 54062620726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fam Soaara & 54 g, SISt gan, fdest S 9 wife oo Aqffo o3 7
Options :

B 3

, v TI=EE Ay

3 % 3. HSHS AW

Question Number : 189 Question Id : 54062620727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(ST3 AEgaTH &% i aH& wardt = 3957 37
Options :

, % UIE S OIS

, x PO H AREIET

, v AT ARTEH

Question Number : 189 Question Id : 54062620727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



(ST3 AEgaTH &% i aH& wardt = 3ga 37
Options :

, % UIE S U3t

| x FEgH AEIET

, v AT BT ASTEH

Question Number : 190 Question Id : 54062620728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RSt v fde ga &t sfest = &g &
Options :

| % ST TRy adurst

) % HSBIH A IS
s« Temrdt gafes fiw

4 v It 3rs fRw

Question Number : 190 Question Id : 54062620728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A ware fde 27 < et = u o

Options :

, % SBIH FIS
s TImral gefez fify

4 v It ars fRw
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Number of Questions to be attempted : 10
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Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 54062620729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method would you adopt to improve co-operation between students?
Options :

1. #* male gender pair

2. # female gender pair

3. ¥ mixed gender pair

4. # child and elder pair

Question Number : 191 Question Id : 54062620729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B! & dId TgINT P! 9gaR I & o1T 3T DI IT RIBT UGN
Options :

1. % gy T et

2. % Hige feiv SiIel

3.  faig for et

4. % g 3R IS SNal

Question Number : 192 Question Id : 54062620730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the first need to identify before planning of a lesson?
Options :



1. ¥ learning objectives for the lesson
2. # topic of the lesson
3. % summary for the lesson

4. # learning tools of the lesson

Question Number : 192 Question Id : 54062620730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1S 1 UISHT §7H Y U8 e Ugdl ol Ug <1 g2
Options :

1. ¥ UTG & o SifeTH Ig=d

2. % 76 &1 fawg

3. % U3 & foIw aRiw

4. % UG o SERTH b UG

Question Number : 193 Question Id : 54062620731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types we can use for curriculum adaptation?
Options :

1. # ten

2. ¥ nine

3. % five

4. % cight

Question Number : 193 Question Id : 54062620731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTSaehH SIH T & ol 8 faha- BRI BT SUTRT B Tohd g2

Options :
1. % Y




2.
3. % U
4. % 33

Question Number : 194 Question Id : 54062620732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Infrastructural barriers are  that create barriers to persons with disabilities.
Options :

1. ¥ elements of building or outdoor spaces

2. % elements of colony or indoor spaces

3. % elements of society or outdoor spaces

4. # elements of houses or indoor spaces

Question Number : 194 Question Id : 54062620732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS ST & oIl fqmatiT safaad! & forg sarty I el g |
Options :

1. ¢ Ya= g1 §78< I & dd (TlerHe)

2. % PHraF! a1 Hiak! R & dd (TfaHe)

3. % gNEc! & dd (TfaHe) a1 918l -

4. % TRI 71 YIakl ™M & I (TerHe)

Question Number : 195 Question Id : 54062620733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the stage of a child between 9-12 years called?

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.



Options :

1. Adolescence

2. Early childhood
3. Teen

4. Infancy

Question Number : 195 Question Id : 54062620733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9-12 T & STa & T o IRUT DI T Bl ol 52
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. f=iRTa=

2. ST

3. fhaiR

4. 9919

Question Number : 196 Question Id : 54062620734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of this is not a dimension of learning out of the school?
Options :

1. # Life-long learning

2. # Life-wide learning

3. % Life-deep learning

4. ¥ Life-death learning

Question Number : 196 Question Id : 54062620734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 ¥ B IH 91 [Jererd & aTeR S1TH 7 ST el 82
Options :

1. % 3fTofia Sferry

2. ® Sita WR T SHfeRTH

3. % Sfig-TTgH 3ifeH

4. Sa-qg 3Ty

Question Number : 197 Question Id : 54062620735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EAC in language stands for

Options :

1. ¥ English along with curriculum
2. ® English across the country

3. # English across the class

4. ® English across the content

Question Number : 197 Question Id : 54062620735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT EAC T g0 5= &l
Options :

1. ¢ ST el fay pRereH

2. % SfTeTRT 3P ¢ e

3. % QTR 37hIY & Iy

4. % QTR 3hIN G T

Question Number : 198 Question Id : 54062620736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which Behaviour will be changed by drama education?
Options :

1. ¥ Negative

2. # Positive

3. # Arrogant

4. % Aggressive

Question Number : 198 Question Id : 54062620736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ted 18 I D 1H-91 TR T
Options :

1. ¥ JhRIHD

2. % PRIHD

3. % ST

4. % HIPTHD

Question Number : 199 Question Id : 54062620737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In simple words learning means

Options :

1. ¥ Acquiring knowledge

2. # Descriptive learning

3. % Procedural learning

4. ¥ Acquaintance learning

Question Number : 199 Question Id : 54062620737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W Wl | ST BT 37 g

Options :



1. ¢ M UTE BT

2. % gUiHTHSD SHfTH

3. % Yihardd ST

4. % gRIIT (3fehe) 3

Question Number : 200 Question Id : 54062620738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Language word is derived from
Options :

1. ® German
2. % English
3. % Latin
4. ® Greek

Question Number : 200 Question Id : 54062620738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS TTeq I I |
Options :

1. % STH

2. % 3Gl

3. ¢ I

4. % g



